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128.57° -8.6233 W@EiE@
(COS)
(5/7)n

6 = arctan (y/x).

DIVIDE BY @ ; vy x=0

Hyperbolic

5-4



=) 5P BN

&) [HYP) (COS]

Hyperbolic sine of x (SINH).

Hyperbolic cosine of x (COSH).

6 -4

X
=) Hyperbolic tangent of x (TANH). X /
=) HYP)E) Hyperbolic arc sine of x (ASINH). X
=) HYP)([E3) Hyperbolic arc cosine of x (ACOSH). X
=) HYP)E) Hyperbolic arc tangent of x (ATANH). X /
(Y ) = )
(X
y x (3] (%] y  %x
y [ENTER] x (B] (%CHCG) (y£0).x vy
.$15,76 % 6
FIX 2
&) (DisPLAY) (T)(1F I¥)
2]
15. 76 (1526 ] [ENTER)
%6 355 BEE
% 6 + ) 16.71




.$16,12 $15,76

16,12 (16)(J](2)(ENTER)

%2,2 -2.23 0 [ [0 (A (R ][ )
'
EIX 4 -2.2333 (&N (DSPLAY) (A J(1F 1K)

@
.%CHG
]




=) .CONST 41
CONST

299792458 ms™' | Speed of light in vacuum C
9.80665 m s=2 | Standard acceleration of gravity |

6.673x10 """ m*kg™'s? | Newtonian constant of gravitation G
0.022413996 m3 mol-1 | Molar volume of ideal gas m
6.02214199x10 22 mol-1 | Avogadro constant HA
10973731.5685 m=!1 | Rydberg constant Roo
1.602176462x10-19 C | Elementary charge ey
9.10938188x10-31 kg | Electron mass me
1.67262158x10-27 kg | Proton mass me
1.67492716x10-27 kg | Neutron mass mn
1.88353109x10-28 kg | Muon mass -Muon mH
1.3806503x10-23 ) K-1 | Boltzmann constant k
6.62606876x10-34 | s | Planck constant h
1.054571596x10-34 | s | Planck constant over 2 pi .pi 2 Iy
2.067833636x10-15 Wb | Magnetic flux quantum #a
5.291772083x10-11 m | Bohr radius 3
8.854187817x10-12F m™' | Electric constant co
8.314472 J mol-1 k-1 | Molar gas constant [
96485.3415 C mol-1 | Faraday constant F
1.66053873x10-27 kg Atomic mass constant u
1.2566370614x10-6 NA2 | Magnetic constant Mg
9.27400899x10-24 | T-1 | Bohr magneton HE
5.05078317x10-27 J T-' | Nuclear magneton HH
1.410606633x10-26 | T-1 | Proton magnetic moment HP
-9.28476362x10-24 | T-' | Electron magnetic moment HE
-9.662364x10-27 ) T | Neutron magnetic moment un
-4.49044813x10-26 | T-' | Muon magnetic moment MK




2.817940285x10-15m
376.730313461 @

2.426310215x10-12 m
1.319590898x10-15 m
1.321409847x10-15 m
7.297352533x10-3
5.6704x10-8 W m=2K+
273.15

101325 Pa

267522212 s7'T-
374177107x10-16 W m?
0.014387752 m K

7.748091696x10-5 S
2.71828182846

Classical electron radius

Characteristic impendence of
vacuum

Compton wavelength
Neutron Compton wavelength
Proton Compton wavelength
Fine structure constant
Stefan—-Boltzmann constant
Celsius temperature
Standard atmosphere
Proton gyromagnetic ratio
First radiation constant
Second radiation constant
Conductance quantum

The base number of natural
logarithm(natural constant)

FE
Za

AL
ACh
ACP

aJtm
vP
c1
cz
Ga

Peter J.Mohr and Barry N.Taylor, CODATA Recommended Values of the

Fundamental Physical Constants: 1998, Journal of Physical and Chemical

Reference

Data,Vol.28, No.6,1999 and Reviews of Modern Physics,Vol.72, No.2, 2000.

ENTER

B&) (CONST

Cursor
(&%) (CONST
)




HP 35s

gradients  radians .
( ) hexagesimal .
. kg/lb cm/in) .
Shift
Shift
-C°F
ALG .RPN
/
0 . (xy) (r,0)
T - 1802 -18092 0
.grads 200 -200 radians
A
X
r

10 -4



) .RPN D@ (18rEA) @ (F=RNY) (&) (DisPLAY]
(@ (1 1=+ [ReN) ALG
(r@)a xy,x@yOd)
(ENTER]
y X
0
10 r
4 4
30°\ 9‘\
X 3
/ (MODE] (1)(1 DEE)
&) (DisPLAY] (9]
(2= [RPN]+)
xiy ( )roa 2. 66083RPN) 5. 800 (1)) E]0)
() @

11 -4



/ 16.0ePE036 . oope (E3) (DSPAY) (1 (0)

(18- EA)
roa () xy 5.e008053.1361 (3] () (4)([ENTER)
)
ohms 77,8 RC P.C. Bord
capacitive reactance X R . 36,5
r
Xc .,y ohms R x . o
. ohms
R A -
1
0 |
|
R -36.5° |
S x |
(@ 77.8 ohms :
|
YN |
/ (MODE])(1)(1DEG)
&) (DspA) (9]
(9= )
0 77.80-36. 5@ IE]FE)e]
] E1eE)
ohms
R X £2.5481 RPN]-46. 27
T
.ohms
ohms y

reactance, X¢

12 -4



hexagesimal
D.MMSSss hexagesimal
MM ddd...
Ss
/=) (Hms=) /
FIX 6
.FIX6
7/1 . eeeaaa
81-7
34,29 8 H.@@aa8a8
B.823423
EIX 4 8. 888888
|.8334
. X
.radians

/ HP 35s

D.ddd...

SS

&) =]

7/1

() (OSPLAY) (T (1F 1)
©

DOO@

=

(DS (1)(tF 1%)

radians

13 -4



‘radians

.1t/6 radians 30
. aeaeE E)
38.-
.radians 8. 0888 (&3] (=RAD]
B.5236
0.5236
.1/6

HP 35s

=kg, =lb, =2C, =2F, =#cm, —*in, =1, =gal, @ MILE,» KM

@. 4536 (kilograms) ( ) | M=) kg 1lb
2. 2846 (pounds) ()| 0O==k [3 1 kg
8. 8888 (°C) ( )| B12AmEE) °C 32 °F
212.8808@ (°F) ( )| M@@EEH | °F 100 °C
2.5488 (centimeters) ()| OmEEm cm 1in
39.3781 (inches) ( )| O@OEEn | in 100 cm
3.7854 (liters) ()] OmEE=) | 1 gal
8. 2642 (gallons) ( ) | (D& (=) gal 11
1. EB3Z(KMS) ( ) | M= KM 1 MILE
8. &6214[(MILES)] ( /)| D= (=ML MILE 1 KM

14 -4



Factorial /
x (0 < x<253) /
( ) @3
Gamma
x! .= (x-1) I'x) x
X .(x+1)
/
/
r &) <) n r n /
/ ( )
r
)r  B@krd n r n
r (
/
.= / X
) =3 O0<x<1 /
Knuth

The Art of Computer Programming, vol. 2, Seminumerical Algorithms, London: Addison Wesley,
1981.

15 -4



RANDOM

/ .SEED /

10 14

24 [2)(4])(ENTER] (6]

[
134,596 . BOGE <]
6 14 (1J(4](ENTER] (6]
-
6 3,883, 008 =)
134,596 . BEGE
X
8. 8223 =

16 -4



v

) ENNG) (&) (E1F) X
.(14.0000  14.2300

/
v
) BNINTG) (5] (SFF) X
.(0.2300 14.2300
.= X
r rba / A
2 2
Xty xiy / .2
2 2 2
\/Al A A |A [A1,A2,A3, ...An] 3
.E)[ARG]
a rba 1
Atan(y/x) Xxiy .2
v
, X . BINTG)(O)(15GH) X
1.0000 0.0000 -1.0000

17 -4



18 -4

2. 8088

. 4708

7. Bana

1. 6a86

—-& . BEEE

DEO@DEEGIE) 6
DOEADEEG) E) (5FF)
kAl
(2@ TG (1) (15CH)

(51EICA) &= INTC) (4)
(4INTG)

RND /

ENTG) (4] (4IMTE)

2,47

2,47

70

.5,3 -

(@) D))

(

12

v



LEME

RDN

3
/
8/5 2)EIE] 8/3 2
0EE]
.(’I=) (FDISP
/
/
RPN /
/ /
=)
1,5 112 MAOEETR
4/3 1 13-4 WEIGM
X 1.7ae8 =)
X 13-4 =)

1-5



2-5

12

.4095

12



2 3-8 2.37500000000 2 3/8
14 15.32 14.4687500000 1415/3,
4 1.2 4.50000000000 54/
2 345 9.60000000000 6 18/5
2 56 v 2.83333333333 34/,
B 7-3523 A 0.00183105469 15/8192
12349733 12349793.0000 12345678 12345 /4
16 14695 16.0001831055 16 3/16384
v A
12
12
12 v
%0.5 / -
12 A
%0.5 / -
A —
n / v non n
Yo716 o07/16 Ao 7/16

>

A/

r L I

6.5 7
he e

(0.40625) (0.43750)



/ 5 n
" 33333/, H3<3A 2/y
/ -8 3-5A -2/, 375
2 2-3A 2%
12
- 12
12
/
/ n
/
/ c ab/c
- /
( )



.4095
)&= (] X /c
4095 o) (&N (4] 4095 /
/ /
X /c
.LAST X
.»
B3] w\d
.[SHOW =)
3025 /
/ S1M2E=)
.3025
8 W@amE=er]
126268488831
/
@
25
/
. [N (4] 1 ALG /



/c

= clear

. /c

/c

J/c

(8 /c

on

. /c

) 37 7/8

12 6 4 3 2

= set

/c

/c

/c
S31-4

(60 /c

= set

= set

/

ALG /
2
"IMVALIDDATA"
/
/
/
/
/
/ .(4095
/
/
12 /c
/
/c
)y 125-68
flags /
( ) /
7 /
.off
8 /
= clear
9 /
= clear



(14

/ /
9
/
/
9 /
/
/ (&=¥] (FLAGS]
press (1)(15F) /
/ (2)(=CF)
/ B)(3F57)
. HD  YES
/
8
/c @])elEI=)
/
@ &=z
8 IMLE-113
.8 / a &) FLACS) (O)(15F)
ILis-e1D
819*5=4095
/ 9 B[@-4895 (&) (FLAGS]) (1])(15F)
/ 35804095 @]
B B9 (FIAGS) (2)(2CF)
) 3QLE-113 (BB FAGS) ()2
CF)2)



/c / 2.77
2.77
/c=16 /c=4095
210/13A 27692 | 2. 77/100 (2.7700)
/
23/4A (275000 | 2 1051/1365A  (276%9)
212/16A @750 |23153/4095A @76%) /
/c /
16
* /
216/95 | 2.9999 22/3 2.5 2
29/14V | 3V 22/3A 21/2 |2
25/8A |3V 211/16¥ [21/2 |2 /
210/16A | 30/16¥ | 211/16V¥ |28/16|20/16 /
16 /c *
X RND /
/ /c
/ 9 8

RND



56 3/,

/16
/ ([&¥) (ELAGS] (ENTER] (8]
W)= (L)
) - 116
9
96 374 E1e]E1]M4)
=) (so) (0]
3716 =)
56 508 Bx)
-8 1-8 Ra@™ =)
/ -6 1.8 &) [FLAGS) (2])(zCF)(E)
/ -8. 1258 [>]]
)
/



10 -5

/c

INPUT

.14



16

HP 35s

( ) -
(7 ) =
.(8 ). =
V=.25zd2|
! d

W2GEIENTR] &) (Z)(x](2) I EE ) x)1])e]x)
( 78,5398) (21/,) 2,5
- " " HP35s



2-6

.EQN

EQHLISTTOP

.2
RCL
RCL
A.Z
RCL W= ME=E=)
v=5.25 D@E
V=@, 25 XENEIX)
Y=@. 25xmx0~ 2. RC(DIT)(2)
V=0, 25xgxD~2xl-
V=@, 25xxD~2xl
CK=49CH &) SHOW
LH=14
DV )
/ o7
valve
/
D
21/ Dz 2 | [ | [
2 172
D L? R/S
valve
L U= (WeIRs)
v8.5338



7

ENTER

XEQ

SOLVE

=) 1
Cor 21

B Jor @]
or ]
E)[ 2] or @) ]
&) (sHOW]

/ (&) UNDO]

13




/
/
(& (UNDO)
/
/
- )
0 0z A
/ " ()
RCL RCL

(1)

EQN

(14



8 2 / /

ALL / : 16
12
]
. @
' : HP 35s
n n G n
n - n n + n n
"IN " "cos' .
- /
/
&=)(0] : "



6 -6

/A ).
r=2xcx(t—a)+25
V=@, 25xgxD~2xL
R=_ RI==)
R=z2_ @
R=2xlx_
R=2xCwx
M =)REL
=ExCx(T-AX+ 25 ]H25)
R=2xCx(T-A1+25
CK=9ESF &) SHOW
LH=14
3*3 lin. Solve  2*2 lin. solve
/ 1



14

ERMLIST TOF

N

R=2xCx(T-AX+25

R=2xCx(T-AX+23

=2xCx(T-AX+23_

14

(]| N

ERHM LIST TOP

@<

ENTER



/
/
. 3*3lin. Solve  2*2lin. solve /
. 3*3 lin. Solve /
/
ENTER
(= ) [ENTER
n )

(@ ) B

(=) (CIEAR (=N)(DISPLAY]) (MODE
&7 )
(Em(coNST) (=M (MEM) E(OCIC] [E)(EASE) ER)SUMS) ([E)(s.co)

/ @) (x20) [FLAGS]) [(x2]



2
=]
/
CLR .@(3EMN) JEQN  / ECER)
LA(yY) . EGN? Y N
25
R=2xCx(T-A)+25
=2xCx(T-AY+25
.25 =2xCxCOS(T-AY . (===
RE=2xCx{T—-H2 ENTER
/
/
HP 35s
n = n / ™
/ X2+y2=r2
A=05xbxh
X3+ 1 = .



10 -6

. XEQ

ENTER

@

HP 35s



g(x) - fix) g(x) = f(x)
x2 + y2— 12 K24 y2 =12
y = f(x) flx) * y = f(x)
A-05xbxh 05xbxh* A=05xbxh
f(x) f(x)
x3+1 x3+1
A
n n ) .
(
/ ) - XEQ) (ENTER
/
R/S /
" )
-( n
2 IMTEEREUFTED . R
X
ENTER
)
( -

11 -6




ENTER

20 63

V=8, 25xg=0~2xL

ey
2.5

.52 D

.16 16

v oY
19,242,255 . 0833

19,2423

(v )

XEQ

12 -6

. XEQ

ENTER

( as required)

ENTER

BIEIRS]

@x)e]e]
(0] (ENTER]

R/S

EOEIE]

XEQ



XEQ

535
V=8, 25xgx0~2xL
e XEQ
19,242,255, 8833
.D . \ D? R/S
35
L . D L? E1EUE]
28,088
L -353.785.7851
/ _
-8.5537 EMEIE)
—( D ) v )
/
RT2.50808
¢ O
(14 ).

13 -6



.[R/5]

X
R/S
2095 RPN / 2 5
2 ENTER ALG
2 <[ENTER]
X <]
/
.[E) (SHOW
X RPN /
R/S X
/
/
/
/

14 -6



CH+10 Parentheses /
SINCH+1D Functions /
W Power ( )
-A Unary Minus ((F4])
HxY, AE Multiply and Divide
P+ A-E Add and Subtract
B=C Equality
/
ax(bd) =c AxB~3=C
(ax b3 =c CAxBX~3=C
a+(b/c=12 A+BE+C=12
(@+b)/c=12 (A+BI+C=12
[%CHG ((t + 12), (a - 6)) ]2 HCHGCT+12.A-6)~2

15 -6




.RPN

16 -6

SQRT SQ
! ABS
ATAN ACOS
ATANH  ACOSH
XROOT  %CHG
nPr nCr
=N -CM
y X
b m
xy 2y2
. nPr nCr
RPN

ALOG
RND
RMDR
ASIN
ASINH
—HMS
KM
—°F

oy

*x2

RMDR IDIV  XROOT

AROOTCZ . =30

Y X

EXP LOG
FP IP
IDIV INTG
TAN COS
TANH COSH
HMS— —RAD
— MiILE —GAL
—°C —|B
RAND ARG
% _
o X sy
y b's
Yy Xx
%CHG
NCri28.42

LN

INV
SGN
SIN
SINH
—DEG
-
—KG
SEED

XROOT
—8(ENTER]3 (7]

28(ENTER] 4 &) (nCr])



RPN
SQ )
SQRT Jx
EXP ox
ALOG 10%
INV 1/x
XROOT W
A yx
IDlvV INT=+
1 1
a+b+h(——+— =
sinf sing
a
h
0 ¢
b
-HP 35s

17 -6

HCHGC=3 =22

HCHGOE =Y 22



.

P=A+B+Hx(1-+-SIN(T)+1+SIN(F))
£ F Y

/

IMWCSIHCT 22 /

INV / ) INV " ! SIN A+S5IHCT
(&

F=A+BE+Hx CIMVCSTIHCT 2 0+ IHWCSTIMCF 222

n

lnd 2 C().S(ﬂ/n) -
4 sin(z7/n)

d

A=8. 25xMx02xC05C g+ 2 +SIH g+ 2

18 -6



SYMTRX ERRORE

HP 35s

13

&) SHOW

SHOW

( as required)

8. 25xpxb~2=l

L=

(hold)

(=¥) (SHOW

Ck=43CAH
LH=14

19 -6



20 -6

V=8 .25xgxD~2xL

(release)



6
SOLVE
x2-3y=10
X X SOLVE y
" " Y SOLVE
Markup x Cost = Price / = X
SOLVE
X
/
( / )

/ . 1

" " 6
[E=)([SovE) X =) SOVE) 2

X

/ 3
R/S .



MO

2-7

) RS
(6
.[R/S

d=vot+1/2gt?2

X
)D
/ " ROOT FOUMD
" SOLVE
" SOLVE
1% d
/



/ [73) (CLEAR) (3)(3ALL )
(¥)

/ X3 in.solve EQN
E@M LIST TOP

REL (D] &= (=] Rl
D=buT+_ x]
@=\=T+8. 5xG=T~ 2_](5](x] RCL
RCL 2]
D=YxT+E . SxGxT~2
CK=FE3C &) SHOW
LH=15
(32.2ft/s2 9.8 m/s2) (
/ 5
:D
SOLVE (13) (SOLVE]
D W7 ]}
v valve
\ T? O])R/5
T valve
T 5 G? S
G valve
G 98 SOLYING CEIRS)
0=
.D 122 . 5600
500



D=YxT+8 . SxGxT~2

T o7 ()] (SOLVE) (T
122.5
.D
D 500 ue (5](0)(0]RA)
5}
vV
G? R/S
G V 9.8
G 9.8 SOLYING
T=
T 18.1815
(moles)

PxV=NxRxT

R moles N ( ) (N/m2 ) P
K=°C + .Kelvins ) T (8.314 J/mole-K 5 0.0821 liter-atm/mole—K)
(273.1
/ P (EQNJ[RCL)(P](x]
RaVIE&E= (=]
Frl=HxRxT_ (RS RIXIERC (1)
FrM=HxR=T ENTER
CK=EDCE &) (sHOW]
LH=3
24 moles 0,005
/
:P



vV P v?

w3 lue

N vV 2 H?
w3 lue

N 0,005 R
w3 lug

R 0,0821 T
w3 lue

(Kelvins )T T?
297 . 1888

T 2971 SOLV NG
P=
P B.8616

18 atmospheres 0,05
o

PxM=HxRE=T

N 7
8. 8518

P 0,05 W7
20008

V 5 R
a.0321

R T?
297. 1868

) T T?
.(Kelvins =31.1888

T 2911 SOLYING

K=
N B.8185

/ H.25929
N x 28

‘B38E

=) (soLvE] (P]
21Rs)

L0IEIRS)

L@EZIARS])

Q@32
(A ([ENTER

RZ)

N

E1 [N

28 N x 28/V)

EaN)

(=) (SOLvE] (]
LOIBEIRA)

BIRs)

WEIENTRI(2)(7IE]) v
K1 (a8 [E3

2E® v

ReMIE] v



“3*3 lin. “2*2 lin. solve” (Ax+By=C, Dx+Ey=F) : /
.Solve”(Ax+By+Cz=D, Ex+Fy+Gz=H, Ix+Jy+Kz=L)
A ) 12 2%2 (F A ) 6 ([E=)E00E)
zZy X 2%2 ¥y, X 3*3 (L
.Z Yy X .3*3

x+2y=5 }
3x+4y=11

/ Z#3lin.gsolve
EQMLISTTOP
EQMLISTTOP

2¥Zlin.Jsolve

A A ()] (SOLVE]
value
A 1 E7 MRS)
B value
B 2 c7 )RS
C value
C 5 o7 GIRS
D value
D 3 E? 3R/
E value
E 4 F? 4] R/s
F value
F 11 K= + MRS
y X 1.8886 ¥
Y = : 3
2. Beae 3

6-7



SOLVE
( )
SOLVE
-
PxV—-(NxRxT)
/
A " SOLVE ).
HO ROOT FHO
.SOLVE
( ) ( /
(R4
X
Y X
D (

SOLVE

) X

)2

SOLVE

SOLVE

SOLVE



AINTERRUFTED”

MO

ROOT FHD
-X
Y X
Y X
X
Y X
SOLVE
SOLVE
( ) X



d=vpt+1/,gt2

.D T
T
y=t+logx
(HOROOT FHD )x<0
80 40
) . 7500



10 -7

T
Hl oY Y
I L _
| I
| I
| I
4040—2H | |
| I
| I
| I
o ___ — — —
| I
H
! A A
<— H I 802H I H—
80
\Y .(40-2H) (80 —2H)
V=(80-2H)x (40-2H)x H
V=(40-H)x(20-H)x4x H
/ W=_
ReM&=(=]
01410]=)
W=048-H)
IO210]=)

C4B-H)=(28-H) _
Him(2@a-HrxdxH  (X](4)(X]RCL)(H]

W=Cd@-Hx(2a—H

CK=43R4 &) (sHoW]
LH=1%



20
20 10 . 40

/

0]\ ST0)(H)
28_ (ENTER] (2](0]

W=(4@-H % Za-H

Vv H W7 (’=3) (SOLVE]
valve
.V 7500 H= ZJ5]10]) 0] [R/s)
15. 8888
.H
(z ) (Y

15, BEEE
/
z 8. Baaa
20) . 15 x 10 x50
— 42,0256 40 30
- 2,9774 10

11 -7



12 -7

X X -
H 7500 /
7500~ (40-H) (20—H) 4H
A
+ 20,000
| \ | F——t—>
10 N \ 50
+ -10,000
SOLVE D



fix)

f (x)

C(FH d_D

1= ]2 f(x)dx

flx)

ftx)




( FN)

n ) 1
/ (6 n
ENTER i 2 v
N ) EN) , 3
(X
. . =0 4
MEMORY FLLL .
.B
" R/S
2 " INTERREUPTED
SCI FI=R ALL /
Z T Y / EHG

.Bessel

2-8



0 / Bessel
1¢x .
Jo(x) = —I cos(x sint)dt
790

3 2 X Bessel

cos (xsin 1)

/ (/3] (CLEAR] (3]
(3ALL)](Y)ENTER)

23 lin. solve
ERH LIST TOF

COSCHD

COSCHxSINC) x1EIN)
COSCRxSIMCT Y
COSCRxSIMCT
COSCRxSIMCT Y ENTER

Ck=E1EC (=) (sHOW]
LH=13

/

X=2 T t
. Radians (MODE] (2] (2RAD)
3.1416 (0] (ENTER) (&)
(

COSCHRSIMCT
[FN G (1[va]

X W7
valve



4-8

(0, m)

x=2 INTEGRATIHG

foio

Jo(2)

[ fu)
Jo(3)

3

j:

a8.7a34

8.2233

3.1416

COSCRxEIMCT

[FH d_

we
2. 80aa

INTEGRATIMG
J‘ =

-8.8178@

—-8. 2661

50)= [, "o

(2] Rs]

=) 7)) (=)

Jo(3)

(0] (ENTER) (&) ()

v

Si(2)



ODIVIDE BY @)

(t=2)2

.Radians

.Si(2)

33 lin. solwe
EGH LIST TOP

SIMCRD

SIMCHY

STHCHI =M
SIHCHI+H

CK=BEERB
LH=8&

SIMCRI+HE

IMTEGRATIMG
I:

1.6854

EQN)

SN (REL) (X]

=]

ERSO X
ENTER

(&) (sHOW]
<]

(MODE) (Z) (2RAD)

(0] (ETO] ENTER
2]

EQN)

&) (O]




6 -8

(ALL

0.0002

ENG SCI FIX)

(7 /

1.6054 + 0.0002

Si(2)



)

SCI 2

1.561EH8

@ . 80EQ
2. BEEQ

SIMCRI+H

INTEGRATIMNG
j:

1.61E8
1.61E-2

fx)

SCl 2

(=) (DiseLav) (2]
(2scI)(2)

[ J]WA DA

.1.61+0.0161



8-8

1.6873E-2 &) osrA) (2]
/ (25C1)(4)
8. OEEEED
T 2 BOBRER
Y
STM(H)+H
INTEGRATING (@) X
J:
1.6854E8
/ 1.66856E-4
1/100
/
SCl 2
FIX4 /. eaaz (DSPAY) (1] (25C1)(4)
/ 8. 8882 (MODE) (1) (1DEG)
HP 35s



HP 35s

#(RPN]Jw =+ (RPN] v E] A

(sin, cos, tan) (+ x - +)

( 22 21 ).eZ Inz 2% 17 =

. ALG / X+yi

#[REN] ¥

HHU(RPN]

FELA :

@3 &)

RPN /




RPN

——————————————————————

——————————————————————

----------------------

Y1

rl

X1

Y2

r2

X2

(1

@

1
2
Y
X1iY1
r1 @al
X2iY2
r20a2
Z

ALG /

2-9

.RPN



—7
1/z
=N Inz /
[~>]]zd| ez /
7
7
TAN z
(=) (ABS) ABS(z)
&=)(ARG) ARG(z)
Z1
22
Z2 ZI1
Addition, z7 + z2
=] Subtraction, z7 - z2
x] Multiplication, z7 x z2
= Division, z 1+ z2
Power function, Z,*2 /




4-9

9.1545 i —
. 4.1689
z1
z2
2i-2 (22+ 23)
2.5i9 Z 1+(zp+ 23)
4i-2/5
3i-2/3

11.7333i-3.8667

@i3) /

(& [ (9)
(9 REN) )

3.1545RPN]-4 . 15 (2)[T1(3]EN)
a3

z 1+(z2+123),
z21=23i13,z2=-2i1 z3=4i-3

e DA (9]
(= (RPN]¥)

23.ee08(RPN]13. aaa (2](3]_i )11 (3] (ENTER]

23.8888(RPN] 13 . 688

-2.@868(RPN] 1 . aaaa (2] CL)6 ) (1) (ENTER)
-z.@36a(RPN] 1 . G689

22.eeea(RPN] 13 . aae (4] ]1E1CAE)
@
2. 08688 ([RPN]-2 . BOGE

2.5e@a(RPN) 2088 ()

(47-2/5)% (3i-2/3)

&) (DiseaY) (9]

(2:[RPN] )
4. B0 ([RPN) -8 . 4680 (4)_1) ()21 BIED
4. @E@0(RPN) -4 . 4868 [ENTER)

4. 8e@a[RPN]-a . 4688 (3)7]1(](2)(JEICEA
Z[RPN)-8 23

11.7333[RPN]-3. 865 (X]
7

/



-2
z=(1i1) e’

1i1 1.e@60(RPN]1 . 8a0e (1)) () (ENTER)
1.8868(RPN]1 . 8668
0i-5 7-2 @.6068RPN)-5. 6666 (2) 000

8. 3776 [RPN]) -0 . 4724 (@) ()
0.8776 i~ 0.4794.

/

imaginary
A (a, b)

» real




6 -9

L2 1851bss 62°
170 Ib 143° Ly
X
L3
1001bs 261°

Ly 185, GEAE0EZ . BAGEA
185, GEAE0EZ . BAGEA
Ly 170. 068660143 .08. . .
170. 0680680143 . paamp
Ly + L3 L, 185 . GAEA0EZ . AREE
151.452901758. 6cam
L1 + Lo+ L3 172. 93720111 . 145

(MODE) (1) (1 DEE)
(<) [ e )
(ter EA)
DEEEE
&) 2] ENTER)
DO EE
MDA EETR

Wo)]mEm)e ]
@2eiE)

@]

.| DISPLAY



111430 10+560 30

/ (MODE] (1] (1DEG)
/ (&) (DispLAY) (-](0]
(1er[EA)
Til 1.4142045. 0860 (] () ENTER)
1.4142045 . 0860
3610 3.8080010 . aBEE )@
Z.0808010 . 0AEE ENTER
5630 1.4142045. ae@6 GIECe)3I.]
3610 7.8861022. 5241
1i1 9. 2888025 . 9892
9.2088 6 25.8898
rfa xy
/
. ALG / /




8-9

1i2+3610+5630

(ALG ):

Feal LEL F

FEBZ 1 @N)2+3Ela+5E3a

Faaz BRTH

INPUT




10

/
[~>]]HiN 1
2
3-D 2-D =] 3
.3-D &= 4
HP 35s
"IMWALID DATA"
A
) 2
3



[1.5,-2.2]+[-1.5,2.2]

(MODE] (5)(SRFH)
) RPN
(
[1.5,-2.2] C1.5088.-2.2008] BILOEa0E
[1.5000.-2.2686] (<. | [Eza ]2 x|
(2] (ENTER)
[1.5,2.2] [1.50880.-2.2686] mEEAOE
t-1.5.2.21 @@
8. o888
[Q.0008.8. AAEE]
[-3.4,4.5]-[2.3,1.4]
(MODE] (4 ])(4ALE)
.ALG
[-34,4.5] £-3.4.4.51. @MEAGEHM
(<] | | | T
[2.3,1.4] @3.4:4.51-[2.3.1.4] @0 AA3E)
(< 1N | | |3
[-3.4.4.51-[2.3...
[-5.7008.3. 16867
= ]
[3,4] X5



.RPN (MODE] (5)(SRFH)

(3,4] [3.@00@.4.6000] [E@)DEIECIE

[3. 0088.4. 30667 ENTER

5 [3.0088.4. 36667 3

5
8. BEEE
[15. 6666, 26 . 66861
[-2,4] =2

ALG (MODE] (4])(4ALE)

[-2,4] C-2.41_ @)1 2=

2]

5 [-2.41+2 =2

[-2.41+2 ENTER

[-1.0008.2. 88867
n ABSH
A=(A1, A2, ...An)
.\/Alz +A ++A° =|A|
(=] (ABS] 1
.2
3
:[5,12]

RPN 13 . (/3] (283) (/=) (1) (5) (@) ] (1) (Z) (ENTER)

.[MODE) (5)(=RFH) @) [ E) @ ) (1) (2) =) (483)



"IMWVALID DATA"
[A, B], [C, D] :2D

[A, B][C, D]=Ax C +B x D
[A, B, X], [C, D,Y] :3D

[A, B, XI[C, D, Y]= A x C +B x D+X x Y

]
" n n " z]
A7
(3.4] [12]
ALG (MODE] (4)(#ALE)
(1,2] f1.21. BEWOEC]2)
[1.21x[3.4] (XEIDEAEC]
4]
11. @@ae ENTER
A1
[2.2]
.RPN (MODE] (5)(SRFH)
[9,5] [2.@@66.5.6000] FE)IDIENC]E)
[3. BEEE. 5. 3688] ENTER
[2,2] C.@088.5. 60061 @) HE2IENCIE)
[z.21
28 . BEEE

.28

[9,5]



)|A|B| 0 = Acos(a-B/

A=[1,01,B=[0,1] :

ALG (MODE] (4](4ALE)

[MODE) (1] (1 DEG)

ACOSC ) [/3) (ACOS]
A[1,0] ACOSCCL.81 (@)D ENC10)
B [0,1] ACOSCC1.81x[B.11> (XEINOIENC)
]
B A
A[1,0] @ 11+AES(C1.010m (3] ) (ABS) 1:3) (1)
(I < 1 [ I [
B [0,1] @!.81-ABSCEE. 11 (5] 1)(ABS) M) 10)
=10
.90 ACOSCC1.@a1=C@a. .. ENTER
O000000=e - eeaa
A=[3,4],B=[0,5] :

.RPN (MODE] (5])(SRFH)
(MODE) (1)(1 DEE)
a8 BEIEC]M
26.0600  (ENTER) (E3) (1) (0) (&)
CEx]
(3,4] 2e.pE08 (B@)NEI&NC]14])
5. @888 =) (ABS)
[0,5] S.eaee  ENOIE)CIGE)
5. 8888 =) (A6S)
28 . 88688

25,8888
2@ =

8. 2068
o (/=) (ACOS)

36.8699 36.8633



solver



[5,6] +2x[7, 8] x[9, 10]

Gaasl LELOG

[5,6] GHBEBZ2 C3.6]1 + 2 x [V.2] xC[2.1817

GEBEE RTH



ALG

/

EaN) =) (0]

RPN

.([ENTER

/
.31 ALG
N[~ 1]l
O
RPN [ C, REGZ, (J) ] /

.[RCL] = ] ENTER] &) )(RCL] [1][(ENTER



/ (=) (BASE]) BASE

(M= (ocIC]) LoGIC

BASE
/ . / DEC
HEX . / HE X
RPN . /
.F A /
F E D C B A ALG
F A
OCT ] ocT
/
BIN . EIN
/
12
) B\Bcd B3]
.( "
d
h
.uhu
[u]
_"D"
=3
.Ilbll




125.9910

7oh - (1)(2]5) 3] (BASE])
16 (2] (2HEX)

.8 1750  ([E3)(BASE) (3] (30CT)
2 11111681 [F3)(BASE)(4) (4E1IH)

125.0008  (F3)(BASE)(1) (1DEC)

) 14 : 24FF16

24FFh ) BASE) (2] (2HE®) ,
TE" (2](4)Ux)ix) =)
(BASE] (6] (5h)

T3) (BASE) (4] (4B 1)
» 18610811111111m

- L L]
110010011111111,,

14 1ee1eE11111111ey @]

/ 9.471.0000  (F2)(BASE) (1](1DEL)



/ h/d/o/b n- /

/
/
(1 )
/
.2 16/10/8/2 /
2]
/ ENTER
h/d/o/b 2 1
m=] @\

BASE

/ 16/10/8/2

ALG

ENTER

h/d/o/b

‘RPN

/
.16/8/2



LOGIC

n AND" AHD
AND(1100b,1010b)=1000b
" XOR" #“=OR

XOR(1101b,1011b)=110b :

" OR" oF
OR(1100b,1010b)=1110b :

MOT

NOT(1011b)= :
T11117117117111111111111111111111110100b

" NAND" HAHD

NAND(1100b,1010b)= :
111111111111111111111111111111110111b

n NORH HOR
NOR(1100b,1010b)-= :

TT17111117177171777111171111111111110001b

IIANDII, IIORII, IIXORII, IINOTII, IINANDII, IINORII
"INMVALIDOOATA"

/ 1 I R R E
(] HEX /

/ 16 ,8 ,2 /



OVERFLOW
16 /
HEX
/
ocr
/
HEX
2 /
BIN

12F16 + EQA14 =7

FC2h

77608 - 4326g =?

/ 7Fllo

24320

100g + 58="?
14

5A07¢6 + 10011002 =?

/ SAER
,16

1@E1 1680

ENTER

1811116811686k
SECh

1.516. 8068

T3 EASE) (2] (2HEX)

(2] Ux) #3) (BASE) (6]

(6h) ENTER] 0F) (9] (SIN) (1I:3)

(BASE] (6] (5h)

3] (BASE] (3] (30CT)

(71716 (0] /=) (BASE)

D7) BRI 32
EE 658D (7o)2)

DO @IEEH D)
(7o) ENTER) (5) 3] BASE)
@ (7o) &)

(|3) (BASE) (2)(2HEX) (5]

(SN) (0] i) (BASE) (6]
(&h)(ENTER]

T3) (BASE) (4) (4B 1H)
DDOOD@O
@& ()

TR EASD (2) (2HEX)

[¥3) (BASE) (1) (1 DEC)



12) 36

12510

1111101b

000000000000000000000000000001111101b

( )
( )
22zh
) FFFFFFODER
11111111111111mp

@iliii111111161m

@li1aiillée

-54E . B0EA

/
/

( 9

36

(
(51(4](6) I3 BASE)
(2] (ZHEX)
CaEIMte)
(ENTER]

[73) (BASE) (4] (4B TH)

@3]
(>)]ex]
[73) BASE) (1) (1 DEC)

(1)
)0



11)

/ 36
/ ( 36) ( 12) (
/
/ /
/
800000000h 7FFFFFFFFh
4000000000000 3777777777770

1000000000000000000000
00000000000000b|

-34,359,738,368

OTTTITTIIIIIIITI1I11T1
[RRRRRARRRRRRAIS

34,359,738,367

TOO BIG

JTOOEBIG

HEX/ OCT / BIN



14 . 36

36-bit number .36

WL e s s L s

\ ) —
i

( ) & » , 14
(@] m\3])

L ]]Kd @]

- »

180088 08EHEEREEA [EE0EEREEEAEEEE |80RE8E80EEE




12

HP 35s
( ) /
/ / .
(Y x) / / .
(y X ) .
LIxy Xy2 ¥x2 Xy Ix n: .
X,y SUMS

SRAR ﬁaﬁ%ﬁ

n =x syzx2syZzxy

/
/ ( )
/ (== ) =1
=) (5UMs ) .SUMS (32 -27 )

(n Ex Ew xS Ewd Exy

() (CEAR) (4] (4 ) ) I




ENTER

=) [ASTX

=) LASTY])

(24

X

/3] (CLEAR) (4] (4 E)
(2] X

)

13) (CIEAR) (4) (#3)

.(ENTER

24
n
n RVAR'S
X

[, T R PR NS



(< ]]
.n
=]
BX) [LASTx
X Y y )
Y )
y X
Yy X yX
20, 4 20, 5
400, 6 40, 6
/ (I=3](CLEAR] (4] (4E)
4. 0808 (4] (ENTER]) (2] (0] (=4]
1.08680
n €. BEEA (6] (ENTER] (4] (0] (0]
2. BEEaE
X & . BaEG (I=3](LASTX]
408 . BAGE
y
Y
6. 0E86 [<1]Pa|
1.08680
€. BEEA (] (ENTER]) (4] (0] (4]
2. BEEaE
4. 0804 (4] ENTER] (2] (0] (=)
1.0660
5. pEEa (G](ENTER] (2] (0] (E4)
2. Be0a

=)
(LAST X




/ =) L.R.
Fmb v oR

" / n

EL / =) Y, X

" / "

=E =) s,6
" S gH o¥

N Zx 2% / =) [SUMS SUMS
" JEHZ EwWZ Exy

X BEGED (%)

y EED] (¥)

y x ENEIC(RM)




15.5 9.25 10.0
12.5 12.0 8.5

/ FR)(CEAR) (4] (43)

1.b8a0 WEUEEa

O@EIEdM©
6. 0088 CHO@0EE0@™
2QEEOEE

) x B(E (

~ =
- E
[
il
oy

|

$4.10 $4.70 $4.60 $4.25(x)
1000 900 800 250 (y)

) Y : ( )

/ 1) (CLER) (4] (43)

n , (21(5] (0] (ENTER] (4] (]
@514
(8](0](0][ENTER) (4[]
288 . aaaa 1=
3. 0a08 (91(e](o](ENTER) (4[]

1.800.6000  (1](0])(0](0](ENTER] (4]
5-12



4.0000 R
Wi ¥ R )= &EDC]] (

4.4314

/

n-1
()
X B3] (S0] (5#)
Y BEa)2] (5¥)
, (c¥)  (o*)
/
/ /
(sx)
9.25
15.5 10.0
12.5 12.0 8.5
(x ). /

/ ) CER (@) (43)
1. @88 @EMEIE
I2151E1010]
EaW21AEEI0]
&. 8888 2IEIEIUEE]
=¥ S oX o =) (5=)

2.58682



() / n-1

/ B(Ea) (5%)
/ BEA3) (s¥)

180 174,173 ,170

4. 08608 wolJE

S¥ 5V g¥ oV B a1 (o)
3.6315

Y, X

STAT ERROR

LR
|




v x

+1

x

y (

>

LEY

(x

¥ &) [LR])

80.00

7.78

60.00

7.21

-y

40.00

6.61

20.00

5.78

/

ECRI(Y)

0.00

4.63

721088
4. 8088

, (y

[T3) (CLEAR) (4] (43)

(el E]ENTER]) (0]
EICE@IB](ENTER] (2]
&1
Ce1C (e (1) (ENTER] (4]
&1
@) (ENTER] (6]
0 [D33




v.roeEa W@ ENTER

5. BEE9 1]
FmbW R =) ()
a.9888
/ FmbY X
A.8387
y Fmbs R
4. 85608
Y
8.50+
7/
x ®
7_50-- /// (70/ g\l)
r=0.9880 - °
Ve
[ Ve
6.50+ g
Ve
,/ m=0.0387
5501 7
//
" b=4.8560
4.50 | | | } X
o) 20 40 &0 80



70

X 7. TEOE 1@
e
Fmed % )5 ) (
FR=1-3 4=
/
/ ,
, /
/
X ( / )
/ )A’ X X ,
, 7777001 7777000 7776999 X ,
X X 7777000 1 0 -1
.7777000 X y .7777000 x m
) Yy X
=)
/

10 -12



(=) (SUMS

. (I'l) n
. X (E}ﬂ:) n
-y (Zw) .
(Ex) (EwE) (Ex2) .
Yy X
(&) (MEM] (1)(1 VAR ENTER)
/
B4 (12
/ =) (CIEAR) (4) (43)
2,800 (2)ENTER) ()(E4) ’
4.8008  (4)ENTER) (3] ’
_(3 4) 2. BEaa

11 -12



12 -12

VAR / * = =)
n 1 3 2. 9eaa (MEM] (1)(1VAR)
Xy * Euw=
L 4 14 . 8888
Sy2 * Zye=
¥ 28 . aaaa
xx2 * Ex?=
L 4 16, 8888
2y 1t Ew=
¥ & . BaEE
X * Ex=
L 4 4. BEaE
n * n=
¥ 2. aaaa
VAR / 4. 8800
2. [aaa
HP 35s /
27 n
X -28 X
y -29 Sy
X -30 sx2
y -31 zy2
y X -32 Xy




/

(-32
()

27 )
(] [N

(

)

14

J 1

&) VEW] (0]
SUMS

13 -12












13

zre

1
2
5
5@&) @ (X] RPN
5 @ X&) (@) ENTER)  :ALG

.5398 78



) X

PRGM

. PRGM TOP

. (Radius)2

. X2

ALG RPN

BAA1 SOCxIxg AAE1 x2
BEEZ
BEEZ =

RPN

(RPN )
=) 3]

(3ALL)CD (¥)(ENTER)
=) (PrCM)

PRGM TOP 3 NS

AEA] w2 =)

BEAZ =)
BEAZ =)

3] (PFRCM

RPN )

€]

ra. 0338 5

ALG



:(ALG )
/ =) (ClEAR) (3)

(FALL)Z] () ENTER)

[7=) [PRGM)
PRGM )

PRGM TOP ol
. PRGM TOP

. (Radius)2 Bea1 S0k BRI IX]
&) 7

=) (BreM)

((ALG )

(cie] RN NER|

X 5 AR (5] (STO) (X (ENTER)
5 . BEAE

! rE.933538 R/S

RPN
ALG RPN
. ALG



FEGM TOF

_(FlEiEIS RETH

)

RTN

(RTN  LBL)

(FlEiBI LELA

[~>]] letter—key ( /

.z A /

G
(DUFLICAT.LEL
« 7 )

999

ALG RPN

)

&) RN)



RPN

XEQ

JINPUT

Q

ALG

) RPN .
(c ) ALG .
(6 ) .
RPN
( )
RPN
ENTER ).
STO
RPN /
/
/
/



VIEW

2 1
/ /
=)
. PRGM -
ALG ()
/ =) 1
FPRGM TOP ] 2
() [ENTER /=) (CLEAR) (3] (3P M)
. CLRPGMS? ¥ N
. e fetter ( / Z A / - / 3
n n n areaII A /
DUFLICAT.LEL
/ (&) (MEM) (Z) (2P et) -
€] (FE)(CLEAR]
4



FREGHM TOP
BRI

(BFEE ) ©

( (&) (SHOW ) .SCI ALL
.EQN : /
6
) ENTER
-
&) (SHOW
SHOW
» @
m@ma] \d
/ /
/
=<1/ /
/ /
. [ [CEAR) (O] (1) X /
XEQ GTO



. “A003 GTO A002”
=]
/
(  PRGM)
/

( ) A

A /

A PRGM)

A004

PRGM TOF

AEEl LEL A

ABAZ =2
AREE3
AEE4

ABES RTH

LEL A
LH=15

Ck=DAF1
LH=15

AEE1 LEL A
AEEZ 2+3

AEB3 1+2

ABQa4 CGTOQREA3

<A002

(RPN )

(I=)(PRCM

(/3] (CLEAR] (3]
(3FGM) X (7)
ENTER

=) (el (Al

=) )
=)(7)
x]

(&) (RT]

(=) (MEM) (2]
(2FGH)

() (SHOW]

€1c)



RPN

.("equation

)

FRGM TOF

E8B1l LEL E

E@Bz STOR

EBB3 gxR"~2

CK=FESE
LH=5
EBB4 RTH

LELE
LH=17

Ck=z87v3
LH=17

(RPN

)

=) (PrRGM] (GTO) (-]
]

(=) (LeL (E]

@
B

e
7]
EE

K
=
m
Z
=
M
el

&) (sHOW]
=) RN

=) (MEM] (2]
(2FGH)

&) SHOW



( PRGM

(XEQ)
/ / XEQ

. (ENTER / XEQ

"WEG ABE1" XEQ)(A)
A /
/ XEQ
XEQ)(A)(0](0](5]
B PRGM (1 )
/
25 5 E A
E A 2
(RPN )
A RUHMING (5] (XEQ)(A)ENTER]
Y8.5338
19,6350 (2]GEIXEQI(E]
E ENTER
21w
124.8251 XEQ ENTER

10 -13



PRGM

X

)

LBL

25r.

2. BERE

AEE1 LEL A
5.0080
AEAZ w2
25. 08008

AEEZ o
3.1416
ABE4 =
78.539%
AEES RTH
7E8.5398

]
/
/
(RPN )
(51 (CTO) (A) ENTER)

(hold) (release)

(hold) (release)
(hold) (release)

(hold) (release)
(hold) (release)

11 -13



12 -13

) (11

PSE

) (11

/

/

VIEW



(&) INPUT) Variable (

INPUT
RPN ALG
AEE1 LEL A ABE1 LEL A
AEBZ INPUT R AEEZ IMPUT R
ABEZ =2 ABBE3 SLCRIxg
AEE4 ABE4 RTH
ABEAS =
ABBs RTH
(R

INPUT

) ) INPUT
/

E?

B.B8888

“Ru

/ il

B.8888
) RS
INPUT

1

13 -13



. INPUT
variable ()

X INPUT
INPUT -
-Z-Y-X
.INPUT
/
E78. 8888 INPUT
R (X )
.R/5
X .[R/S]
(2] (5] R3]
) ALG @2 =] RPN
2
(X 2
X . INPUT
. INPUT

14 -13

INPUT



/ VIEW

((VEW] variable( ) VIEW
A=
78.5398
/ X
X ENTER
14 .
B3] B\l
X I ( ) .
[ 3 .
.16 " / - / "
VIEW X T TO16 TO15
VIEWed RCL .RCL
VIEW ENTER ). X
17 16 ( /
X VIEWed

15 -13



(14

16 -13

) S

.

/ ) .
»
(
(cylinder
V= nR2H

S=2nR2+2nRH=2nR(R+H)

PRGM TOF

Ca@l LEL C
caaz INFUT B
CEa3 IMPUT H

/
10 /
J
( )
14
= @\ o)
) VIEW INPUT :
) C
( )H ( )R
(RPN )
) (FRGM) (/)
(CIEAR) (3] (P GH)
0 ENER)
) BC)
&) [P (R)

(&=x) (INPUT



(RPN )

EQN) (=)
RCLI(R] 9@
RCL

CEBY4 pxR~2xH
CK=74FE &) SHow

) LH=F
v CEEs STO Y
@ =
RS RIIM]
®SO®]
CAAE 2xngxRx(R+w ENTER
CK=13B3 =

LH=11
CEE7 STO S

.S

10 / &) [FLAGS)(1] (15F)
COAs 5F 16 )
RCL)(Q)
@ SPACE @
RCL)(R]) RCU(E]
83 YOL + AREs
.10 &) (FLAGS)(1] (2CF)
CO18 CF 16 )
CE11 MIEKW W =
CE12 WIEM S =
. CO13 RTH =)
C / LELC &) MEMI(2]
LH=&7 (2PGH)
CK=97C3 =

LH=E7

17 -13



18 -13

RND

2,5

VIEW

) PSE

- PSE

r?
valve

H?
valve

VoL + AREA
L=

1537 .8735
S=

164 .9335

(RPN )
ENTER
172 [ [ [ [
R/S
R/S
VIEW -
(
PSE (/3] [PSE
PSE VIEW

)7



(PSE STOP)

.STOP « / ) .
X
RTN STOP .
( ) PSE /=) (PSE .
PSE . - X
(10 / ) VIEW
/
RS
(1)
A< IR CT0) (XEQ)
label line ( /) RS
.(number
(F )
=)

19 -13



20 -13

Undo

Undo

A005

(@)

A004

[d)) 4

A004
A005

t 3



2] 1
( ) 2
ENTER

@3] |\] 3
ALG , [ENTER] 4
.5

/

) =)
( PRGM
PRGHM TOP
:( )

@3] B3] .
c -

N
_PRGM TOF o@ .
] label ( )nnn .

21 -13



22 -13

label line number ( )

MEMORY FULL

(MEM)
/
/ &) (MEM](2)(2F M)
/ B
[~>]] )
X / =)
(=) ) /

)



(]

LM=

.(PRGM

Ck=

L (v) ENTER

/

)

LELC

LH=E7
67
/
/
&) (MEM] (2] (2FGH)(ENTER] 1
= 2
/ 3
/
=) 1
/([ CEAR)(3) (FFGM) 2
CLEPGHMS? Y H 3
. =) 4
(F=) (CLEAR] (3] (3ALL))
(
&) (MEM] (2] (2PGH) 1
2
[<]] 3

23 -13



(RPN )
C LBLC ) MEM)(2)
67 LH=&7 (EF'GH)
CK=97C2 (@) (hold)
LH=&7
17 16
/
HP 35s
) (BFGR) KN KN
=) (3ALL) & label line number ( /
=)
=, =, K, =
=)
@), @ >]
&1 (UNE0) 1) (CEAR) (6) (SCLYARK)

24 -13



.[/3) [BASE

/
( )
DEC
/
/
/
PRGM BIN
AEES BINM
AB1G 18k
n b n

HEX

BASE

OCT BIN

PRGM
ABE3 BIM

AE18 1@

25 -13



Ax4 + Bx3 + Cx2 + Dx + E

X RPN

x=7)7 X 5x4 + 2x3 RPN

26 -13



(RPN )

=) FreM) (GTO) )
|

FRGM TOF
AEE1 LEL A
AEEZ IMFUT X
5 AEEZ 5
AEE4 RCL ¥
AEES 4 @
x4 ABEE ¥
54 ABET
AEES RCL ¥ RCL
AEES 3 @
x3 ABLE wX
AE11 2 @
23 AE12 x
5x4 + 2x3 AB1Z +
AE14 RTH =
/ LEL A (@) MEM)(2] (2P GM)
LH=4&
47
CE=ER1ES =)
LH=4&
(x=7)
(RPN )
-X / W
valve
12.691 . 8804

27 -13



Ax4 +Bx3+Cx2 + Dx + E

AEa1 LEL A
A&Eaz IMFPUT A
ABa3 IHMFUT B
A&a4 IMFUT C
AEa3 IMFUT DO
A&E&as IMPUT E
AEEY IHMPUT X

ABEs RCL =

REEs RCL= A

AE1e RCL+ B

AB11 RCLx W

A1z RCL+ C

AE13 RCLx »

AE14 RCL+ D

AB13 RCLx W

A@le RCL+ E

AB17 RETH

Checksum and |len3th: 2ESE 51

28 -13



14

13

RTN / /
.STOP



(RTN XEQ)

( )
/
AEES GTO EBE1 -0
'(”1 II) ‘_ @
E@E1 LEL E «O
(|I1 II) _’ CD
0aa3 AEQ Eaal D E
) D RTN E
.D004 (
D@El LEL D
DaE2 INPUT ¥
E -+ ® [pEB3 XER EGB1
«0 Daed 5TO X
DaES VIEW ¥
DEEs RTH
0 E@@l LEL E
EQBZ +-—
D e, E@B3 RTH




LBL AOO1

XEQ B0OO1

SIN

RTN

AER OVERFLOM

I T ——

e

LBL BOO1

XEQ CO01

3.1416

RTN

20

N

R

LBL COO1

XEQ DOO1

RMDR

RTN

Va2 + b2+ c2 + d?

-..‘\4------

P

I D—

20

LBL DOO1

RTN




RPN /

SEEl LBL S
A @8z INFUT A
.B @83 INFUT E
.C SEa4 IMPUT C
.D @85 INFUT D
S@AAE RCL O
@87 RCL C
SEE2 RCL B
@89 RCL A
A2, SE1@ %2
A2 +B2. - O sE11 XEQ 0EE1
A2 + 82+ C2 -0 SE1Z XEQ EA1 @ -
A2 + B2 + C2+ D2 = O SE13 KER AL @ -
JA? 1B? +C? +D? x| sa14 © -
SE15 RTH
« ®O6 nEa1 LEL @
QEB2 wd>w
REEZ xZ
x2 Daagd +
QEES RTH @@0 «
(GTO)
( ) GTO
( /




GTO

( / GTO ) / GTO
/ /
GTO
GTO Z @&l .16 " "
LBL Z
S@E1 LEL 5
.2001

=@ sEE4 GTOZEE1

Leal LEL L

-2001 -O Lea4 GTO 26481
E@GE1 LEL E
-£001 =@ E@@4 GTOZEE1
O] Z@E1 LEL 2
GTO
/ GTO



©mo) ) ) : PRGH TOP

.(1000 < ) label line number ( / ) :
¢[G10)(Aal(0]) (0J(5) GolAal@llE]
" GTORGEEL"
) A0O1: : /
"GTO A@@1" (
/
( # ) =87 AQO5
X
X
." Do if true " . A007
AEE1 LEL A
ABES x=@7 -+ Q@
O « ABEE GTO BEG1
AEET LM ~Q
AREES STO A
(OR B@El LEL B
/



/ / /
/
(x?0  x7?y)
@ x20] &) x2) . 12
y X X?y
X x?0
Y Y X X
x?0 x?y .Y X

JHVALID DATA

x?0 x?y

x207? # | x# #
y?

x<07? < Ix<y <
?

x<0? < |x<y <
?

x>07? > | xy? >

x>07? > X >
>y?

X=O? = X=y =
?

HO 1 YES

X<y y=7 x=2



YES ENTER] (2] (&) (x2Y]) > ] (> ) (<)(ENTER

YES x¥) (2] (@) (x2Y) 51 5] (<) ENTER)
x<y? 16 ! /
- X guess X
X guess X

T013 . Xguess X
( ) 0.0001

.T015 0.0001

RPN
ALG

RN )

Taas +
TE1E STO+ X

TE1l1l ABS
TE1Z2 8.80681
TAL13 scw?

Tal4 GTO TEa1

TE15 RCL =
Tale VIEW ¥

TO09
0.0001

T014



/ (True ) /

" .(False

/ n

/
/
/ A1 0 / 12 HP 35s
12 /
B /

/) (CIEAR) (3) (@ALL) (<) () (ENTER).

A OVERFLOMW

OVERFLOW
) TOOBIG 6 /
( 6 /
TOO BIG 6 / /
6 5
5 /
6
7 9 8 7
/
7 / (r=3) (EDISP)



10 -14

@8

./c

./c




J.FN SOLVE

SF /

VIEW

(
/
CF SF
IFN SOLVE
CF SF

10

) 10 /
10 /
PSE
10
CF SF
/ 11
) 11 /
. INPUT
11 /
/
11 /
11

11 -14

CF



/ 43210
3210
1 5
( / " ). FS?
/
SF CF F57 : FLAGS (&) (FLAGS
(11 0 ) /
=) 0 / &) [FLAGS)(1])(1=F) (0]
B FAGS)()(15F) @M 5410 / [ELAGS) (1)(15F) (0 (@)
A1 /
FLAGS
N / / 5F n
.n / / CF n
n FS7 n
FS

“NO  YES"

12 -14



/
InX
.nY
.0
X
X
.1
Y
Y
10 ,(
Y X
SEEE 0
S@E18 1

(RPN )
SAAal LBL S
SEaz CF a

SEezCF 1
Se@a4 IMPUT =
See3 Fs? o
Seas LM
SEEY STO W
S@as INPUT Y
Seas Fs?l
S@1@ LH
5811 sTOY
S812 VIEW w
Sa13 VIEW Y

S814 RTH
16B3 42 :

) S003 CF1 S002 CFO

s@le  sS\ass

JLCF1 SF@a Sea:3 seaz

X /

SF 1

, CF @ SEa3 seaz

Y /

13 -14



1 O SF 1 SF@  S@83  Seaz

Y X / SA18  S@8s
:(RPN )
S / s XEQ] (S ] (ENTER]
X
Y X 1 Vo) MRS
X X 1 W= RS
1.08680
Y = R/S
1.08680

&) & [Fracs)(2])(zcF) (o]

01 (FLAGS)(2])(=cF) (1)
e ) /
9 87)
S " (10)
MESSAGE
( EQN ) / 1
letter ([ ) 2
(73] (SPACE]
/ (ENTER] 3

14 -14



(RPN )

LEL F

CF 7

CF &

CF 9

SF 1@

/ DEC
IHPUT ¥

/ IMPUT D

(2 - 4095)
RCL W

DECIMAL

FSE

STOP

RCL D

/c e
RCL W

MOST PRECISE

PSE
STOP

.8 SF &
FACTOR DEMOM

PSE
STOP

.9 SF 9
FIXED DEMOM

FSE

STOP
GTO Faal

BE54 123 :

Faal
Faaz
Faai3
Faad4

Faas
Fagasg
Faav
Faas

Faas

Fala
Fall
Faiz
Faiz
Falg
Fais
Fale

Faiv
Fais
Fais
Faza

Fazl
Fazz
Fazi3
Faz4

Fazs

Fazea
Faz?

15 -14



(16

.10

(D)
/c

(V)

532

16

/

:(RPN )

W7 ENTER

valve

oy ALEIEIRS)

valve

DECIMAL M)C6]R/S
16 . 0880
2.3308

MOST PRECISE R/S
28515 v
28515

FACTOR DEHOM
2172 A
21-2

FIXED DEHOM R/S
28516 A

2.5388  (R/S)(C](EN)(FLAGS)
2.5300  (2)(2CF) @)

16 -14

/

.looping

DEal LEL D
Deaz INFUT M
DEaz IMFUT H
DEaad IMFUT T

Deas GTO Daal



label line ( / )

number

(GTO)

.GTO

(RPN )

S@El LEL 5

S8z INPUT A

S883 IMNFUT B

A S@884 RCL A

A-B 5885 RCL- B

A SBBE STOA

SEET RCL E

A <B SBES kv
SBE9 GTO SPEd

A : s818 VIEW A

S811 RTH
273733

17 -14



(ISG DSE)

&) (sG] /
( ) B3 BsE) )

.3 variable ( ) ,
=) variable ( ) \

:BASIC FOR-NEXT

FOR—-NEXT DSE
(=2 or (I@) (BSE)) DSE  ISG shifted
( )
FOR variable = initial-valve TO final-valve STEF =
increment
MEXT variable
+ccccccc. fffii
( 12 1) ccccccc
/ ( ) Vjj
.000 fff

18 -14



.1 / )o1 ji
ccccccc ccceccc DSE , ccccccc. fffii
fff ccceecc , — i
Jff <L ccceecc
ccccecc ISG , ccccccc fffii
fff ccceece , ccceecc + i

Jff > ccccecc

o- Waal LEL W

> Weas OSE A =@
) O« Wale GTo Waal )

WE11 XEQ ®@@1 «®

IA

o- Weal LEL W

< Wegs ISGA -0 >
) O« Wele GTO Weal )

Wall XER X8a1 «®

, 1 1SG 0.050 ,

(1.010) RPN 10 ISG

19 -14



Leal LEL L

Laaz 1.681
LBBE3 5T@ 2
Lagad I5G 2
Leaas GTO Laad
LEBEE RTH
=) (XEQ) (L) ENTER)
.11.0100
( ) / /
/
) )
(
@ o @ : /
/ VA A
/ J | n
@ A )
s , ONN0! -
( Iz A ) /
0 / @ @
) OB ) N0
0
IIJII mpn
) , ,
J J 1

20 -14



0)

STO |

RCLI

STO +,—, x =1
RCL +,—, x =1

(1) (

INPUT |
VIEW |

FNdI]
SOLVE |

ORN()

) Z

DSE |
ISG |

x<>|

OO

21 -14



22-14

€

(1) =FN

0/Q) S 1/
A Akl el o A el -1
.z / y4 -26
n 27
>x -28
Sy -29
Sx2 -30
2y2 -31
=Xy -32
0
/
.800 / 800
IMNVALID €13 : 800> 1 -32<|
IMVALIO ¢ T3:Uas 800> ) -32<)
VIEW(J) VIEW(l) INPUT(J) ,INPUT(1)
SUMS
.INPUT VIEW STO ,
/ 0)
OB , ,



CI2

eI

STO(1)/(J)
RCL(1)/(J)

STO +, =% ,+, (1)/(J)
RCL +, —x ,+ (1)/(J)

(0

801

X<>()/(J)
FN=(1)/(J)
()
A
/
) J

(1)

INPUT(1)/(J)
VIEW()/(J)
DSE(1)/(J)
1SG(1)/(9)
SOLVE(l)/(J)
FN d(1)/(J) |
(1)/(1)
/
STO (1)
STO(-1)
( )
/
.ISG DSE
0)/(1)
() I ()
/ )

I

23 -14

cIa



(RPN )

AEE1 LEL A

ABEBZ 168

AEEZ STO I

ABE4 12345

" 0-100 " / ABAS STO I
. 100 / '12345"

ABEE 158

AEaY STO I

REBS &FE898

.150 " 67890 " AEES STO (I
. 0-150 "

AE1E 186

AE11 STO I
AE1z @

. 100 0 AB13 STO (I
" 0-150 "

AE14 17@
AE15 STO I

/ " INVALID ()" AB1E RCL(I X
11170II

AE17 RTH

(A014 ) - "INVALID (I)" )
37

800

24 -14



15

( " SOLVE "
). &) label ( / )
(
. (@) (SOLVE] variable ( )

2 INTERRUFTED
=) VIEW

R/S

.[R/S

- RPN ALG

SOLVE

FN=

SOLVE

/
.(FM=label " / "



flx)

A1

INPUT

INPUT .2

INPUT
INPUT
, INPUT
3
ALG RPN .
f(x) = g(x)
IIO" — g(X)
/
INPUT
.RTN 4
ALG
ALG
PxV=NxRxT
(N/m2 ) =P
( ) =V
moles =N
=R

(8.314 J/mole-K 5 0.0821 liter-atm/mole-K)
( K=°C + 273.1 Kelvins ) =T

/



FREGH TOF
P
%
moles N
R
T
X Moles = X

Checksum and length: F425 33 :

SOLVE
.N
.R
.T
.0.610 atm

0.005 moles
oG
P e
w3 lue
vV 2 N7
w3 lue
N 0,005 R?
w3 lue
R 0,0821 T?
w3 ue
T T?
297 . 1884
T 297,1 SOLMIMG
FP=
H.8518

(AG )
Gaal LEL G

Geaz IMFUT F
GEa3 IMPUT W
Gaad4 IMFUT H
Gaas IMFUT E
Gaas IMPUT T

GEAT PxW=HxExT

GEas RTH

||G||
24

(ALG )

EEN=)c)

3] (sovE] (P]
2IRA)
LOIEIRS)

WM

2 |1 |E2 [ [ A
IO (ENTER)

R/S



FREGHM TOFP

/ H@@1 LEL H

Ha@z SF 11

11
EDC8 : )

HEE83 Fxl=HxR=T
Haa4 ETH

/ A.8518

Checksum and length of program: DF52 21 :

=) H
&) [ELAGS]) (1] (15F)



10

.|l HII
v P
N v o2
R N 0,005
T R 0,0821
.
T 2971
287.1 297.1
)

H.

297,

287,

JBE1E

JBE1E

Lury

BEEE

M?

BESH

R?
azz21
T
1868
T2
la@a

SOLVIMG

H.
-a.

FP=
B339

Bazi

(RPN )
=)

&) [EN=)(H)
=) (SoveE) (2]

R/S
R/S

R/S

ENTER)()(0] (=)

R/S

R LI=)



.SOLVE

Y XEQ) X

.SOLVE variable (

VIEW variable ()

)

(14

(X

SOLVE

SOLVE

FH= label ( /
SOLME varigble (

SOLVE

SOLVE



(RPN

neal LEL ¥
xaaz 24

®EEaE GTO Laal

Checksum and length: 62A0 11 :

Y

Checksum and length: 221E 11

Y@al LeEL ¥

Yeaz 23

YBa: GTo Laal

Leal LEL L
Laaz STO I

LBa3E FH=F

Laad SOLVECI

LEas VIEMCI?

)

LB@s RTH
Checksum and length: D45B 18 :
INPUT / fxy) Faal LEL F
FB18 RTH
- ( )



i "JFN

« / )
(
. (=) variable ( )
INTERRUFTED R/S
OEN=
- RPN ALG

.2
) - &) EN=)/abel

FN=

.3
A4
FN=
2
XEQ
- TEN
/ 1

.(FH=label / )



INPUT
INPUT
INPUT
(
ALG RPN
11
X

8

Sit) :[5(“2qu

/

).

(OEE0 8

.D57E 17

(t=2)2 0 «x

INPUT

.RTN

S@a1 LBL S
SEEZ SIMCRY+R

SEE3 RETH

INPUT

INPUT



(RPN )
[MODE) (2] (2RAD)

[<]]
2 (0] (ENTER] (2]
INTEGRATING =)

=]

1.6854

1.60854 (MODE) (1] (1DERG)

PSE (/@) (PSE))
JFH

(10

10 -15

/
/
FH= Jabel ( / )
[FH d variable ( )
)
(
X STOP (RAS))
PSE



16 " / -

D-M 2
1 p A=) /2
Iwe ° dD.

SV2n

.(X=D)

[FN -

e((D—M)+S)2+2
Q(D)
Q

nEal LEL @
GEEz RCL M

REE3 RCL =
REEd FH=F

FH 4 D[aB6S

(14

/
[FN  d variable( ) SOLVE variable ( )
[FN  soOLVE
N
FH=label (  / ) [EN  SOLVE
[ FN [FHACTIVE  SOLVE ACTIVE
(I (soLue) ) SOLVE
[FN  SOLVE
) /

11 -15






16

(v x)

(.12

HP 35s



PR I s LT

¥

Pl

3
y=l+Ml

7

¥

i e gl el dag s
L
y=8+Minx

25l Glles e fap e

P
¥
r=ﬂx‘M
X
A LOGCHEG?



/ /
X 0
Y 1
Z

Checksum and length: 8E85 12

Checksum and length: AD1B 12 :

Checksum and length: D6F1 12 ©

Checksum and length: 3800 9 :

T3 (CIEAR) (4)(43) . /

Checksum and length: 8611 10 :

(RPN )
SO0l LBEL 5
SEEz CF @
5803 CF 1

See4 GTO Zoa1l

Laal LEL L

Laaz 5F @
LBa3 CF 1

Laad4 GTO Z0@1

E@El LEL E
EBBZ CF @
EBBE3 5F 1

E@Bd4 GTO 2861

Feal LEL F
Faaz SF @

FBBa3E 5F 1

Zaal LBL 2
Zaaz CLE

2883 8

Weal LEL W

Wagaz 1



X

" Undo

X

.0
/

Y [/

.1

/
R B

Y X

Checksum and length: 9560 46 :

Y X

Checksum and length: A79F 15 :

(RPN )
WEE3 +
Weed4 STO X
WEEs IHPUT ¥
WEEs FS7 @
WEET LM
Wees STO B
WEEs IHPUT ¥
WE1@ F57 1
WE11 LM

Waiz sTo R
Wa1i RCL B
Wal4 Z+

Wa1s GTO Weal

Uaal LEL U
Uaaz RCL R

@@z RCL B
Uaad E-

Uaas GTO Weal

F&al LEL R
REE2 v
REE3I STO R

REad4 VIEW R



(RPN )
b REGES b
1 REES FS7 1

REAT ¥
.B b RB&as 5TO B

REEs VIEW B
.m FE16 m
-M m FE11 STO M
Falz VIEW M
Checksum and length: 850C 36 :

() vE@El LEL ¥

Yaaz IMPUT »

-0 YBEZ FS70
K001 YBE4 GTO KBl
MO001 YBES GTO Maa1
vy ¥ YBEE STO Y

Yaay IMPUT Y

-0 YBEE F570
0001 YBE5 GTO 08@1
N0O1 Y@18 GTO HBa1

x X YB11 5TO ¥

Yalz GTO Yeal

Checksum and length: C3B7 36



<>

Checksum and length: 9688 15 :

X

X=(Y-B)+M

Checksum and length: 9COF 15 :

y

.Y =MInX+B

Checksum and length: 889C 18 :

X

R =elY-8)+M

Checksum and length: ODBE 18 :

(RPN )

A&@&a1l LEL A

ABBZ RCL M
ABEZ RBCLx A
A@E4 ECL+ B

ABE3 ETH

Gaal LBL G

caaz RCL v
G883 RCL- B
caa4 ECL+ M

GEas BTH

E@Bl LEL B

E@E2 RCL =
BEBE3 LH
BE@Bd4 RCLx M
E@E3 RCL+ B

EBBE ETH

Heal LEL H

Hagz RCL Y
HBes3 ECL- B
Haa4 RCL+ M

HEEs e

Haee RTH



<>

. § =BeMx

.M005

Checksum and length: 9327 18 :

b

X=(n(Y=8))+M

.NOO5

Checksum and length: 7219 18 ©

y

y = B(Xv)

K005

Checksum and length: 11B3 18 :

X = (Y/B) UM

0005

Checksum and length: 8524 21 :

(rPN )

Cceal LBL C

cesaz RCL M
CHAZE RCLx =

Ccaad e¥
CEas RCLx B

Caas GTO MBAS

Ieel LEL I

Iz RCL Y
1883 RCL+ B
Iaad LH
Iee3 RCL+= M

I8Be GTO NEBs

Daal LEL D

Daaz RCL ¥
D@aasz RCL M

DG wi
0A@5 RCLx B

DEade GTO KBA3

Jael LEL T

Taaz RCL Y
Jaa3 RCL+ B
JTaad4 RCL M
TEAS 1%

Tags ¥

JTEEFPGTO 0865



. BOO1 D001 /

D001

BOO1

Y006

Checksum and length: 4BFA 15 :
.A001 Co001 /

C001

A001

Y006

Checksum and length: 1C4D 15 :

.H001 Joo1 /

J001

HOO1

Y011

Checksum and length: 0AA5 15 :

.G001 1001 /

1001

G001

Y011

Checksum and length: 666D 15 :

(RPN )
Kea1 LEL K
Keez FS71

KB83 XEQ DB61
Kegd4 KEQ BES1

KBaas GTo Yoas

Maal LEL M
Maaz Fs7l
Maaz =EQ Caal
Maa4 =“EQ ABE1

Maas GTO Yaos

o@al LEL O
naaz Fs?1
0aa3 “EQ Jaal
Daa4 XEG HB@1l

0883 GTo Yall

HEa1l LEL M
HBaaz Fs71
Haa3 =EQ I8@1
Haa4 HEQ GAE1

HBaas GTO Yell



1 / X / 0 /
Y /
1 . 1001 N 1
.G001
1
XEQ .2
/ .
ENTER) =
ENTER) =
/ (FJENTER) =
R/S X 3
.(RZ5] Y 4
4 3 5
( T Fvalue( ) )3
( A7value( ) )
4 . ( )
3 . (XEQ)(ENTER)
.R (XEQ] (ENTER] .6
B 7
.M .8
. YR #7value( ) R/S .9
“?value( ) X X y .10
(t?) ¥
T?value( ) Ly hind Ja @l y X .11
(*?) X R/S y
11 10 12



( / y ) B
/
( / ) M
R
X X
y Y
.101 Y X 37 X Y
34.6 35.1 36.2 37.9 38.6 40.5 X
94 955 97.5 100 102 104.5 Y
(RPN )
/ We
1. 8866
X v (WEEIRS]
valve
y W (I [0 [ [ A
2. BEEA
X vr o B1EICEIRA]
184 . 5884
y W M2Rs)
3.00688
37,9 379

10 -16



X
"
X
y
X
y
X
y
X
y
.B
M
X
X 37
Yy 101

i
182. 06888

n?
4. Ba0a
n?
2. 8088

N
182, 6aaa

n?
4. Ba0a

R

1688, 0880
ny
5.8888
R

a7 . Soaa
ne

& BEEE
R

95, 508a
ny

T EREE
R=
B.39335
E=
33,5271
M=
1.7e@1
ny

7 BEnE
R
92,8526

we
38,3338

RN )
ADN®E

3 A [ 2 (19

WE]Rs]
GlEZIRs)
CI@UEIRE]
C1EUARs]
@EIEEIRS)
CIMeRrs]

@A) Rs)

(XEQ) (R](ENTER

BIZRs]

WORs]

11 -16



12 -16

( )1
)
/

(XEQ] (P )(ENTER)| (XEQ][E J(ENTER ENTER To start:
0.9959 0.9945 0.9965 R
8.9730 51.1312 -139.0088 B
0.6640 0.0177 65.8446 M
98.6845 98.5870 98.7508 when X=37)y Y (

when x X (
38.3151 38.3628 38.2857 Y=101)
/ -




.Q(x) .
X Q(x) : /

“Upper
tail” area

"Upper tail"
area

x|
X

HP 35s /
Newton / . /
.Q(x) / X /

13 -16



14 -16

/
/
M /
/
Checksum and length: 70BF 26 :
X QX
X /
VIEW Q
QX)
QX)
Checksum and length: 042A 18 :
.Q(X) X
QX /
/
Xguess X

Checksum and length: A970 12 :

(Q( Xguess)— Q(X))

(RPN
SEE1 LEL S
5062 @

5883 5TO M
S@aed IMPUT M

Se83 1

S@\8s 5TO S
s@aay IMPUT S

S88s8 RTH

beal LEL D
Deaz IHFUT =\

DEE3 XER BE1

DEad STO @
DEas WIENW @

DE&Es GTO DBE1

Iaal LEBL I
Iz IHFUT @

Ia@3 RCL M

Iaa4 STO A

Teal LEL T

TEEAZ XKEG QBE1

(RPN



.Q(x)

. Xguess

Xguess

X, guess

X

Checksum and length: EDF4 57

LBL F

TEE3 RCL- @
Tea4 ECL w
TEas sTO DO

Taas Ry
Taav =ER Fa@1l

TAEs RCL= T
Taas +

TA18 STO+ =

Taii ABS
Talz @.0881
TE13 m{w?

Tal4 GTO Te@l

TE1S RCL ¥
Tale VIEW ®

TE1? GTO I8al

peal LEL @
Qa2 RCL M
QEa3E RCL w
[EE4 FH=F

FH o D[Raas

Rpads 2
QEayY
REaa =

(RPN

15 -16



=, BEes
Sx 21 P18 RCLx S

/ pE11l sTOT

a1z +
RE13 +--
E14 8.5

RE13 +

QEale BRTH

Checksum and length: 8387 52 :

.e—((X—M)+S)2+2 / FEEl LEL F
Faaz RCL D

FEa3 ECL- M

Faa4 ECL+ 5

FRAs =2

Faas 2

Faav? +

Faas +.--

Faas g#
Faile RTH

Checksum and length: B3EB 31 :

&) 2 Q 0,5

16 -16



) R]

(T |

) RA]

QX)

S x oar

:
.(XEQ] (S ] (ENTER]
/ M
. (R/S
S
. (R/S 1
9 QX X
. XEQJ(D][ENTER] X QX
) X
X QX
7
. XEQJUI)[ENTER]) X QX
: QX
QX X
.10
/ D
M
Q
S
;
/
X

17 -16

o N o »n

.10
A1



"36"

/
000 10
M II3G|I
S 1
(RPN )
Mz
8. 8888
M 57 R/S
1. 8888
S 1 1. 8888
X #?  (XEQ)(DJ(ENTER]
valve
X 3 = 3IR/s
B.8813
.Q(X)
/
13.4924 (1]o](0]0o](0]
_"26"
.[R/S]
(RPN )
we? R/S
3.8888
2 X = (2][R/s
QX B.8228
zzv.5e1z2  (1JJ]]00]
2

18 -16



.3 15 .55 /
/ /
10 90
(RPN )
M7 ENTER
@, aEan
/ 55 57 GIGEIRA]
1. 8888
315 15.3808 (1) 5E))EIRE)
X #?  (XEQ)(DJ(ENTER]
value
X 90 o= (9)0)RsS
Q(X) B.8111
.90
(RPN )
/ a7 XEQ)(JENTER
@.a111
QX) ( 10) 0.1 = OIOIRsS]
X 74,6877
/ (ne] R/S
@. 1680
20 100) 0,8 W= 2 EIRA)
42,1232
X Q(X) (
X1 ¢ Sxy
o 2 f1 Xp ...X2
ZX.ZI(.— (Z:Xifi)2
B 1 1 Zf/
Xg (2. f)-1
/

19 -16



20-16

(ALG )
SEE1 LEL S
-27 ) SEE2 CLE

Soez a
.N S@ad STO M

Checksum and length: E5BC 13 :
Iaal LEL I
X Iaaz INPUT X
.F 1883 INFUT F
.N Iaad 1

Iaas STO B
i Ia@e RCL F

Checksum and length: 3387 19

/
Faal LEL F
Faaz -27v
=27
Faaz sTo I
Faad4 RCL F

=27 Zf'
FOES STO+(I)
xf Foms RCLx ¥
Foay ST0 2
Foms -28
.- 28
FaEs STO I

FE1E RCL Z

.- 28 2xf
FE1l STO+(I)
x7 FE1z RCLx ¥

.- 30

FE13 STO 2
Fal4 -2@
Fa1s STO I
FE1& RCL 2

- 30 ZX,-Qﬂ
FE17 STO+(I)



F@1z RCL B

AN )

Fa1s sTO+ N
Faza RCL N
F&z1 RCL F

FBzz AES
FBz3I STOF

Faz4 VIEW N

Fazs GTO Iaal
Checksum and length: F6CB 84 :

Gaal LEL G
GHABZ =x

GBaz sTO S
caa4 VIEN 5

/ W GEES

GAAE STO M
/ GEET VIEM M

cagsz GTO Ieal

Checksum and length: DAF2 24 :

Uaail LEL U
N Uaaz -1

@@z sTo B
la&a4 RCL F

fi UAAS +.--

aas STo F
/ / Uaar GTO Faal

Checksum and length: 03F4 23 :

21 -16



ENTER

-R5S) ( ) Xi
RSY ()i
VIEWing R/S
5 3
4 R/S (i xi)
3 R/
3 R/S
2
X
F
N
S
/ M
i
>f; Register -27
2xifi Register -28
2x2f; Register -30

22-16

o U r W N R



fi

37
115

22
73

Xj

fi

fi

17

15
43

13 8
37 26

1.

=

17.

2.

=

26

3.

. X3

2.

14.

Era

2.

13.

Era

4.

15,

43,

3.

A
valve
F?
valve

=

aanE

we
BaEn

F?
BEEE
H=
BEEE
W7
BEEE

F?
BEEE

H=
BEnE

13

M=
BEEE
we
BEnE
F?
BaEa
H=
BEEE
we
BEER
F?
BEEE
H=
BaEa
ne
BEEE
F?
BEnE
M=
BEEE

fi

(RPN )
(XEQ] (S (ENTER]

BIRS

W@RA]

(8] (R/S]

2ERE

R/S
MMARs
B[RS

14

XEQ) (U] (ENTER]

R/S
WEIRA]
R/S
(R/S]
@GRS
1 [ER YA

R/S

2 2RSS

DEIRS]

23 -16



Xj ne?

22 . 8008
fi F? CIZIRs)

73,8008
M= WEIRsE)

€. 8608
5= (XEQ] (G (ENTER]

(s) 11.4118
M= R/S

< 23 . 4834

(X) /

.VIEW / 23,4084

24 -16



17

(TVvMm) "

TVM

P[] —(1+1/100)-N

700 } F(1+(1/100))N +B =0

Balance

Payments

Future Value

Balance, B

Payments, P

r t 1

1 2 3

Future Value, F

(F P B )y



PxlBBxCl-C1+I+1800~=HI+I+Fx(1+I+180)~-H+E

(RPN )

/ EGM LIST TOP
Fa 108 Re(PIx])(1])(0](0]

Pul@@:(1-) X =
Prl@@xi1-C1+2) e
@ox(l-C1+I+ 1080 e Rel)(=10]0]0]
@:c1-C1+I+1@82~) wp

@ 1+I51883 N
@loay~-Ny+I+Fx (2] Re((£]

@ -HI+I+Fx1+10 (=] Re (]
@I+F=(1+I+188)_ =]

@1+ 1A~ —H
@1+1+188)~~N+E_
Pul@@xl-C1+I+  mp
CK=CEFR =) (hold)

LH=41
. DIVIDEBY @ | TVM
SOLVE D@ I
(=) (soLvE] (1)
: SOLVE



) = s I TVM
.[EQN]
.TVM

=) (soLvE) (V]

=) (sovE) (1]

12 x] i l /

=) (SOVE](B]
/ =) (SOoLvE] (R

=) (soLvE) (F]

SOLVE

) - I
/12 %15
15:12=1.25% i



%5 10 (  36)
.$500 1

B=7,250-1,500

1=10.5% per year
N =36 months

F=0
P=2
= months . =Year
(RPN )
FIX (DISPAY) (1] (1FIR) (2]
.2
Fxl@@:x(1-(1+I+mp ([EQNJ(2] as needed )
.TVM
Ao Iz /=) (SOLVE] (P
w3 [ UE
I7 (0JC]E](ENTER]
8.88 @ =
I 88 0 M7
N / w3 | UE
N 36 F? 3JC6]R/s
F / w3 | UE
F E? (0 ]R/S]



B / w3 /UL

B E? (Z]1(2](3)(0](ENTER]
5. 758,88 WE00=)
B 5750 SOLVING R/S

P / F=

-185.29

/
/
$10



PxlBBxC1-C1+I+mp
.TVM

N P2
-135.85

P

-18&6.89

7
-176.29

.P 89 176 - M7

.B

DIVIDE BY @

N / 26,808

36 F?
F a.a8a

0 B?
B 5.756 .80

5750 SOLVIMG
I=
B.36

£.73

(%75 6)

PxlB@xC1-(1+I+mp
.TVM

F P?

-1v7&.89

(RPN )

=) (sove) (1)
=) RNDJ

W

@2

(RN )

[73) (SOVE



/ P I7?
8.56
0.56 M7 R/S
N 26,08
24 E? (2)(4](RzS]
B 5.758.88
B 5750 SOLWING R/S
F F=
-2.847.85
FIX (&) (ispia] (1
(1FI%) (&)
(1
) 2



@

Note: xis the
value in the
X-register.

ol

P+2 - x

&

X —
N

09

3
Y
-
o

no

<

*no

D+2 5D




)

(ALG

P Yaal LeL v
Yeez2 WIEW P

Checksum and length: 2CC5 6
P 2 ZBE1 LEBL £
ZHEz2 2+ P

Checksum and length: EFB2 9 :
FE&El LEL F

FEBZ LAST=AJF
FBBE3 FRCP+22
FEA4 x{>w
Faas a

FHEE x=w7

P Faay 1+FPAF

.D 3 Faaz 3(aD
Checksum and length: EA89 47 :

P neal LBL »

.P+D AEEz FROP+D2

/ BB x=87

®ead4 GTO 2881

wEE3 SEETCPD
nEEE w{ky
waay b

KEBE x>w?

“Eas GTOo Yaal

®Ela 2+0Ap
®Ell GTO X8l

Checksum and length: C6B5 53



10 -17

.789

.797

P=
TV . B880

P=
2859, 6880

(P)(ENTER

789

(ALG )

DEIEIXEQ]
(2] (ENTER)

R/S

D w N R



vixva=(YW=2ZV)i+ (ZU- XW)j + (XV - YUk

vi=Xi+Yj+Zk

vo=Ui+ Vj+ Wk

(RN )
EaEl LEL R

X REEZ IHFUT =
Y REE3 IHPUT Y
V4 RBE4 IHPUT 2
ROO1 REES GTO REE1
Checksum and length: D82E 15 :

E@8l LEL E

7 v X E@BZ RCL ¥

E@B3 sTO U
E@@4 RCL Y
E@as sTO W
E@Bs RCL 2
E@ay STO MW
ROO1 EBBs GTO REE1

Checksum and length: B6AF 24

11 -17



12 -17

X (YW =2V)
Yy (ZU - W)
z (XV = YU)

X /

Y

ROO1

Checksum and length: 838D 72 :

v2=i-2j+3k 5 v1=2i+5j+4k

(RPN )

ceal LEL C

ceaz RCcL Y
CEB3 RCL:x W
cea4 RCL 2
Ccaas RCLx W
cogs -

caay STOR
ceasz RCL 2
ceas ECL=x U
Ccala RCL »
Call ECLx M
ceiz -

Cal3 sTOE
Cal4 RCL »
Cals RCL= W
Cale RCL Y
Calv¥ RCLx U
cais -
cels sTo 2

Ceza RCL A
CBazZ1 STO w

CEZZ RCL B
cezi sToY

Cez4 GTO RBE1



v2

X /
.y /
z /
W VU
X /
.y /
z /
y /
z /

v2

v2

v2

vl

vl

vl

walue

walug

walug

we

T

z?

we

T

z?

n?

w7

z7

(R](ENTER

)R/

(2] RA)

GRS

(XEQ][(E] (ENTER

2IRsS
B)R/S

4]R/s

ENTER

13 -17












) X

(@E-M

/

.Error! Bookmark not defined.

A-5

) EOEME)(5)

(21-1 ) EUDsEA]

/ /
CLEAR =) (CLEAR]
(X



. (2.51E-13 ) "E'
. (2.51x10™ )

. MEMORY FULL :

.(B ). /
radians 1 ( / )
12 b /
/
3GRD 2RAD 10EG / /
.1 n "
=)
( 1132 329) 4592 Q¢
149¢ -49) 652 -209
(
1049) 409 90%



()

(<)

MEMORY CLERR




(+)

(+)

CR2032

.Error! Bookmark not defined.

[Co

G &5

(@-1

MEMORY CLERR

((3-1)



MEMORY
CLERE
3
.RESET
RESET
)
|
( ) 1
.2
A-1 v :
. Error! Bookmark not defined. 3
XEQ -1
-2
© Z2@a¢ HP DEV CO. L. F. /

KEDBA1



: -3
[R/5)—(GTO) — (XEQ) — [MODE —[(=] -] -] —[Rel)—RY— =y -]
- ])—>EN—(COS]—-[IAN] —(&] —F] —Ua)—ENER)—FZ]—EI-0]—-(=]—EN—(7]
- ~@-E-a-u-El el X a2 EE )

—E-E
KED L]

( ) -
[

(4 )
4
= : 355-0K .
235-FRIL ]
(Cr0) ) Reset
)
/ .(Error! Bookmark not defined.
) Reset .5
(T



HP
HP
HP
HP

HP

HP

() (0 :
() HP

)

12

HP

HP

HP 35s

HP

HP

HP
HP

(

)



HP

Hewlett

Packard

HP
HP

AP

8-A



03-9841-521151300-551-664
010-68002397
2805-2563

+65 6100 6682
+852 2805-2563
+65 6100 6682
09-574-2700
+65 6100 6682
6100 6682
2-561-2700
+852 2805-2563
+65 6100 6682
+65 6100 6682

01 360 277 1203

02 620 00 86

02 620 00 85

296 335 612

82 33 28 44

09 8171 0281

01 4993 9006

069 9530 7103

210 969 6421

020 654 5301

01 605 0356

02 754 19 782

2730 2146

23500027

021 318 0093

495 228 3050

0800980410

913753382

08 5199 2065
Jes,1022 827 8780 (

JaslayI01 439 5358 (

Julla¥1022 567 5308 (

0207 458 0161

EMEA



10 -A

1-800-711-2884
1-800-711-2884
0-800- 555-5000
800-8000 ¢ 800-711-2884
1-800-711-2884
1-800-711-2884
1-800-711-2884
800-100-193
0-800-709-7751
1-800-711-2884
1-800-711-2884

001-800-872-2881 + 800-711-2884

800-360-999

01-8000-51-4746-8368 (01-8000-51- HP
INVENT)

0-800-011-0524
1-800-711-2884

1.800-711-2884
1999-119 ¢ 800-711-2884 (Andinatel)

1-800-225-528 ¢ 800-711-2884
(Pacifitel)

800-6160
0-800-990-0114 800-711-2884
0-800-990-0114 800-711-2884

1-800-711-2884
0-800-990-0114 800-711-2884
1-800-999-5105
159 ¢ 800-711-2884
183 ¢ 800-711-2884




800-0-123 ¢ 800-711-2884
1-800-711-2884
0-800-990-011 ¢ 877-219-8671
01-800-474-68368 (800 HP INVENT)
1-800-711-2884
001-800-872-2881 ¢ 800-711-2884
1-800-0164 ¢ 800-711-2884
001-800-711-2884
(009) 800-541-0006
0-800-10111
1-877 232 0589
1-800-478-4602
01-800-711-2884
1-800-711-2884
1-800-711-2884
156 ¢ 800-711-2884
1-800-711-2884
01-800-711-2884
1-800-711-2884
0004-054-177
0-800-474-68368 (0-800 HP INVENT)

NA

800-HP-INVENT

800-HP INVENT

http://www.hp.com

11 -A



12 -A

15

(1) :

.FCC

o[]
o[

o[]

FCC
Hewlett Packard

FCC /

FCC 15
)

Hewlett Packard

Hewlett-Packard Company
P. O. Box 692000, Mail Stop 530113
Houston, TX 77269-2000



. Hewlett Packard FCC

Hewlett-Packard Company
P. O. Box 692000, Mail Stop 510101
Houston, TX 77269-2000

281-514-3333 . 3333-514-281 HP

Avis Canadien

Cet appareil numérique de la classe B respecte toutes les exigences du Réglement sur le
matériel brouilleur du Canada.

2006/95/EC n
EMC 2004/108/EC m
( )

Hewlett-Packard

ceg (C€.0O

This marking is valid for non- Telecom|This marking is valid for EU non-har- monized

products and EU harmonized Telecom Telecom products. *Notified body number
products (e.g. Bluetooth).| (used only if applicable - refer to the product
label)

Hewlett-Packard GmbH, HQ-TRE, Herrenberger Strasse 140, 71034 Boeblingen, Germany

O EIL, HRNBEBESTEEEES ERGGHSE (VCC 1) ORI
ICHEIL 7S A BIEREHRERTT., ORI, ZERETERITSZL
AZHNELTWETH., ZTOEENS AT LED a 2 ERITEELT
fEHEND &, ZERELIIERBITIEMHDET,

WL ABIC > TIELWEDFENWELTTF I,

13 -A



N\«




. [2%) (MEM]

/) / .
/

/ 30 HP 35s

<JFN  SOLVE )
( JFEN ).
/

MEMORY FULL

( ) /
(6 / ) -
(13 ) -
(=) [CEAR) (3] (3HLL)) / / .



EGHLIST TOF )_
=2
( ) (
/
) ( )

CK=RE¥1 LH=13

SOLVE /
INPUT
GO0
/

/
(
=
CE=382E LH=41
B FEM (2] (2Fsh)
)
LEL F LH=57 (
=
CE=3CC3 LH=37
&) (SHOW
VIEW
L)
RESET

[ FN



. ) @@ 3 (3ALL)

MEMORY CLERE

) i



)
/
/
/
“1,000”
4095 (/c /
FIX 4
/
xiy /
/
EQN LIST TOP EQN LIST TOP|
/ /
= FN
PRGM TOP PRGM TOP|
/ /
/ /
/ /
RPN




EICER) (5] (35TK) ®ECERIO] (1%)

T -Z-Y X
Clx
/ INPUT /
(X )
/
DEG, RAD, FIX, SCI, DEC, HEX, CLVARS
GRAD ENG, ALL OCT, BIN
PSE SHOW RADIX . RADIX, Clz
STOP 5[R/S) (~and (€)* and [(=]*
(MEM) (1) MEM)(2) (GTo) (] () (GTO) (5] label nnn
(TWAR)** (2P GH)**
EQGN FDISP
xiyr6a
.Clx *
/ %* %
{PHM} {VAR} ENTER)




LAST X

‘RPN LAST X X

o X2, x eX, 10%
LN, LOG )\(/;yx, I/x, INT=, Rmdr
SIN, COS, TAN ASIN, ACOS, ATAN o
SINH, COSH, TANH  ASINH, ACOSH, ATANH IP, FP, SGN, INTG,
RND, ABS
%, %CHG 3+, I- RCL+, -, x, +
HMS—=, 2HMS -DEG, =-RAD
nCr nPr ! ARG
CMPLX +, -, x ,+  CMPLX X, IN, y%, 1/x  CMPLX SIN, COS,
TAN
—kg, b -°C, »°F -cm, =in

=l, =2gal —KM —>MILE

.LAST X /c
LASTx  x variable ()
LASTx variable ()
LAST X ALG /

ALG



RPN T2 Y X
.REGT REGZ REGY REGX /

- kY
~T -Z-Y-X

.REGT REGZ REGY REGX

REGX x REGY x REGZ x REGT
T ZY Z YX X

.HP35s






ALG :
ALG
ALG /

(= @ () &= BN [107) .
16 28 / .

ALG (MODE] (4] (4ALEG)
ALG ALG

ALG

. / A
qu (1) 2
TAN SIN COS / 3

FP IP RAND RND % ¥x g VX 1/x x* IN LOG ATAN ASIN ACOS
10X ex ABS Rmdr INT= %CHG nCr nPr SGN INTG

v iy .4

1-C ALG:



o N o W»n

ALG

ALG ALG /
ALG

(= )
(=) %)
(= &) (:Cr])
( BN (NTG) (3)(3Rmar) [EN)(NTG) (Z)(2INTG))

(= = 1)) ALG
[ENTER

12+3 O2EIEIENTR] 12+3
15. 08680

12-3 W2)=EIENTER) 12-3
9. 688

12x3 M@ ENTER) 12x3
26, 0880

12+3 M@AEEIENTER) 12+3
4.6088

2-C ALG:



.[ENTER] y 9 x X y ALG
12~3 M21FE)(ENTER) 123
1.725. 80680
RROOT(3.64) @DICBIIEM@ETR 642 (cube root)
4.8080
( )
.100 %
xozae.2vy @@ 200 %27
54 . QEEE
2pa-x(2ee.27) 2)O)OEEE@ (0] .%27 -200
14€ . BAEE @C1@@(ENTER)
25+xezs.12y @AEHEE@E %12+25
22, A8608 CIOI@IENTER)

wE=%]) y 2] x y %%
BN %CHG) y > ]x (y=0)x y
$12 16 76 15
) (%CHG) M1
%2 2 xcHscls.ig,égé; @Q1mEM

3-C ALG:



10 14

ncr 24,6y EIEND@AG] @)
134,596, 688608

B (INTG) (3)(3Rmar) (BN (INTG) (2](2IMTG-=)

@) (NTG) (2)(2IMTG:) Infeger 7 Integer 2. Integer 1:,
& INTG) (3)(FRmdry) Infeger 1 Integer 2. Integer 2:,
9+58

IDIVCSE.5) ENING)(2)(2IMTG:)
&.BE88  (5)(8) ) (9] ENTER)
RMORCSE.5) (@) (NIG) (3)(3Rmdr) (5]
#8888 7)) 9)ENTER)

30
85-12

4-C ALG:



-107.6471 G10EHEAEEO@R®E
85 12
/
Eo)EMmEIGIE
FE+CE5-0
.12-85 IB+(85-12)_ W]
.73/30 IB+(B5-120x9 ==
-85) /30
3E+CE5-121x9
9x(12 3.6986
()
2 x(5-4) : /
2 @) E]E=1M
LHC1y (F=9) (IN) (1) (ENTER] /
E. 8688 (e / )
LOGC1@) (< ]irelel [N ]EX] I )
1. @888 (10
ExP(2y =) ] (2)(ENTER) /
7.3891
ALOGCZy|  (EW)(10%) (2] ENTER) ) /
186 . a6 (

5-C ALG:



(MODE) (1)1 0EG)

SIMCIE) |  SNEI@ENTER] | Sine of x.
B. 5888
coscedr|  (COSI(6](O)ENTER] | Cosine of x. X
B. 5888
TANC4Sy|  [AN(4)(S)ENTER) | Tangent of x. X
1. 8888
ASINCLy | [EE)ASN)(T)ENTER] | Arc sine of x. X
S8 . aaaa
ACOS<@)| [E)(ACOS)(O)(ENTER) | Arc cosine of X
S8, 8aaa
X.
ATANCEY | [E)AAN (Q)ENTER) | Arc tangent of | x
. 8888
X.
ENTER = SN, Hyperbolic sine of x
(SINH).
ENTER =) (Cos), Hyperbolic cosine of x
(COSH).
ENTER =) [@N), Hyperbolic tangent of x
(TANH).
&) [HYP)([E) (AN, Hyperbolic arc sine of x
(ASINH).
&) [HYP) )] (ACOS), Hyperbolic arc cosine of x
(ACOSH).
ENTER @) EYP)@E) AAN), | Hyperbolic arc tangent of
x (ATANH).

6-C ALG:




IF(2.47) EICE)(EIF)@D@@ 47 2
2. 0000 ENTER
FP(2.47) EIIC)E)(SFP)@O@E@ 47 2
. 4788 ENTER
ABSC-72 =) 7-
70088
SGHCSY  (E)INIG) (1)( 1 5GM) (9] ENTER) 9
1.@668
INTG(-5.3) ([@)INIG) (4)(4INTG)EAGEIE
-6 . @@aa (3](ENTER] 35-
/
- Z- Y- X - =)
[~>]]
T =)
Y
ANMZT
valve
=)
ANZT
valve
a ) =)
REGT  REGZ REGY REGH

7-C ALG:



.RPN ALG T- Z- Y- X-
.RPN ALG RPN ALG
(6 n n ). .1
/
)
, ,[EQN] 3
(2 )
&= ) A4
=ReN)Y 0/
1
L] 2
3
®HvRe) o/
1
)
3
4
(G
r. .1
2
3
1

8-C ALG:



.z
2
.[MODE]
. 21
.22
ENTER
2
.[MODE]
sin (2+3/)
&N (DSPLAY] (9] (9= (RPN] )
SIHNCEZ + RN D EN@2)HEE]
9.1545 SIMCZ + 300 ENTER
2. 1545RN)-4 . 1689
i—4.1689
z1+(z22+23)
23=4-3i zp=-2+i z71=23+13i

9-C ALG:

[, T O VR RN



E)@sa) (1]

(183c+w [RPN))
€@ RPN] + ¢ -2+ [RPN] +4 - 72 [ 3 [E3 [ [E3
Z[RPN) > P2 |53 (0N )74 [ [ 3

I ES (8] [0
(23 + 13[RPN] 2+ -2+,

2.5000 + 9.0000 i .
2.5008+5 . BEEE([RPN)

(4—2/5i)X(3—2/31) :

@5ir=(3-8 2-3RPN) ([E@AZE@REGE]

C1XEIEE
@CEE]
(4-8 2-5RPN) 2% C3.
11.7333i-3.8667 11.7333(RPN]-3. 3667
16 8,2 /

12F16 + EQA 16 =7

/ [73) @ASE) () (2HE X)
HEX 16

12Fh+EsAh  (DZ)R F) @) EASH)

FCoh E)(eh) DR EBE
RA)I) (BASE)(6)(5h

) ENTER)

10 - C ALG:



ocCT

HEX

77608 - 4326 8="

12Fh+E2AK (/=) BASE) (3)(Z0LT)
7rilo

Frefo-43260 (D@E0]FE)EASE) (7]
24320 (Fo)

(= (8 (I3 [ R L)
(BASE] (Z)(¥ ) ENTER]

1008 +~ 58="
ledo+3o  (1](0])(0) @) (EASE) (Z])(7

a)
HEE) E D7)

14a

5A0176 + 100110002 =?

SABh+ (=>]] @(EHEH)

16 Gk A=)
E)(&h) =

@fBh+iea1 16686 (1J00]00]O]]0]0]
(=) EasE (8)(5k)

( x [ENTER] y

SAAh+1861 16606
&38h
SAAh+E1@E1 1 BAEE /=) (BASE) 1)(1 DEL)
1.592. 08068
x XY]y) (x, v) ALG
X x Y

/@) CERE (43)
=)

11-C ALG:

(S, T O PR R



)1

12 - C ALG:

. (&= =)

2 n (
.2 n=0
) Y, X
YX YX
20, 5 20, 4
40, 6 400, 6
(/=) (CLEAR] (4] (4%)
2o 3+ @Y (2])0]E
1. 6888
N 488 3+ (6](x¥](4](0](O]
2. a8aa
X LASTx [>]]
480 . BABE
488 y- =)
1.08688

48 y+ (0 [E2T [ [en [
2. BE08

28 y- MW= (2]0])(E=)
1.0668

28 3+ EE2]0]EY
2. BE0EE



( / ) L.R. /
Y, X /

ENTER , (x )y v )x
(B CRIZ(¥) @0 ER) (%)
&) LR

C(B) (M) (¥)

13-C ALG:






7 SOLVE
SOLVE
SOLVE
( ) SOLVE
/ flx) ) x flx)
SOLVE (x /
f(x) X
fx) SOLVE , f(x)
X /
/ , SOLVE
SOLVE
( )
fx)
( ,d ) X
( b )x f(x)
( C ) . f(x)
fix) : f(x)
( d )



f (x) f(x)

A

—
a b
f (x) f(x)
A A

Function Whose Roots Can Be Found

, . f(x)=0
( 12)



SOLVE

( a ) - ftx)
12 : f(x)
( b ) X
( )
.(0,-10—499) (0, 10—499)
f(x)

f(x) f(x)

() ,
i 2 1) Y
1)

2x3 +4x2-6x+8=0



flx)

—ZuEA3+duE Z-Emp

Ck=EB2R0
LH=1%

18

—ZuEA3+duE Z-Emp

SOLVIMG
"=
1.6588

1.65686

-4 . B0E8EE-11

x2+x-6=0.

A=)
ReXI0A3E]
E3 [N [ES
(REX1A)(2]
=X R X]
&) (sHOW]

[73) (SOVE

S S



ne2tn-6

Ck=3371
LH=¥

i@

EARdR

SOLVIMG

W=
100 2. 8808

2. 8888

fix)=0. B @EEEEEEEEEE

-18_

ne2n-g

SOLVIMG
"=

100 -Z.0808

fix)=0. B @EEEEEEEEEE

SOLVE X
flx)

RCL @2

RCL]) (X1(=]Ce]
ENTER

SHOW

@
b

() E3)(510)
(ENTER) (0]

SIS

=) (SOvE) (X]

R}

)< ]

0] E3)(s10) (X]

ENTER] (1](0] (4]

[7=3) (SOLVE

R RIE) (sHOW)



flx)

flx)
SOLVE . ( b
, X /
, 12 X
f (x) f(x) .
A A‘/ :
é » X . » X
A (>
a b
Special Case: A Discontinuity and a Pole
IP(x) = 1.5
) (NTG) (6)(61F)
RaXIL &= (=)
IPCHY»=1.5 W) B)(ENTER)
CK=02C1 (&) (sHOW]
LH=2



5 ENTER
IFP{®»=1.5 EQN
SOLVING (=) (SOLVE)
:x::
50 288848
11 1.999999339399 =)
2. BEEEREEERHE ROE)
fix) -8.5088
f(x)
X x = 1.99999999999 . f(x)
fi(x)
X
~1=0
x> -6
fix) e



RECRZ2-62-1
Ck=v338
LH=11

2.7

ATiR~2-6a-1

fi(x) MO ROOT FHD

R XD
R X (2)
=]
=) (ENTER

&) (sHOwW]

AEE| -]
2@

(I=) (SOLVE

:HOROOT FHOD

flx) -

.SOLVE

SOLVE

SOLVE



f (x)

f (x)

\ 4
X

f (x)

C

Case Where No Root Is Found

x2-6bx+13=0.

I .
x=3

ArE-EHR+13 HIME)ENTR
CK=ECTV4 (=¥) (SHOW
LH=1@



10-D

.10 O

.5 0.005

f(x) =0

18

ne2-BHR+l3

MO ROOT FHD

10--=0

18-THW KD

Ck=cERE
LH=2

5_
18-THW (R

"=
B, 1888

8. 1686
G, BE0E0EEEEEE

L] \3)(E0)
(ENTER] (1]

Bk

EQN

[1=3) (SOLVE

|
E
Z

7l
53

Be
—
e
=
m
el

]
7
o

LEE)
ENTER] (5]
=) (soLvE) (X]

[RY]

(RY) =) (sHOW]

,

,



-1.eep8  2)1)E) (01X

ENTER
18-IHWCHD CA@EaN)
X = (I3) (SOLVE
a.1880
Jx+(x+0.3)]-0.5=0
ERAIXI=0]
ReLX]HIE]
2121E= EE)
SART(H+-(H+B. 320 mp ENTER
Ck=9F3E (&) (SHOW]
LH=12
) E3)(ET0
18_ ENTER]) (1] (0]
SORTERECR+E, 32 mp EQN
= =) (SOLVE] (X]
10 0 a.1866

11-D



12-D

f(x)

.-10 O

/
][~ ]]Eire)
-18_ ENTER]) 2] (] (0]
SORT(H+(H+B. 220 mp EQN
HO ROOT FHO =) (SoWvE) (X]
n / n
x< -1
/ -T<x<1
if x>1
9412 39

fix)=x+2
fx) =1

f(ix) = —x+2

,RPN

Taal LEL T
Jaaz 1
Taas 2

Togd RCL+ »
TAAS w{w?
TEBEGE RTH
TRav 4
Taas -
TERD +.- -
TE18 wirwe?
Tail Ry
Teiz RTH



—10-8 108

x

(RPN )

WCEle)

-le-8 [@E)(E0(x]10]
(E1C8]

" -1.08B0E-3 ®EEN=)
X ¥= (/=3)(SOLVE)
-2.6668
( 12
SOLVE

[(‘X‘+-|)+-|O15]2_-|OBO:O

SOLVE 2 1 : fx)

1.0000

SOLVE

SOLVE /

. HOROOT FHO

13-D






fix) JFH dm

ftx)
- f(x)

() flx)

f(x)

f(x)



(

flx)

flx)

fx)

HP 35s

fx)



flx)
ftx)

o0
.[o xe *dx.

10499



10499

f(x) = xe—x

AxEXRP O
HxERP (=KD

CK=2FE&
LH=2

SCI 3

1E493

/ HxERP =50

INTEGRAT ING
=]

B, BEEEE

f(x) = xe=X

10499

flx)

ReX)x)E=)
=)
<l

EOEA) (Z)(25C 1)
3 ETER (M E@
@&

[ ]]¥a[Bd]

10499

v



f (x)

fx)
ALL SCI 11 /
/



]
5 .
[]
= - £5%
~— n.lr
= = 3
T Eo
o [¥]
=20
28
2E=
a o
'3
Lo
X
L
s <

Calculated integral

of this function
may be inaccurate.

6-F (



flx) = xe=x

. X
.103 10499

1e3_ (0]ENTER)(T](E]
1
/ HeERP (=4
INTEGRATIMG [<][vA]eq]

=]

1. BEBED
1.BERE-3



f(x)

—> X
10









SOLVING

(FH=Ilabel) /

( JFH 4 variable)

(&) mER) (1) (1 VAR))

EEHS) )

/

FHMACTIVE |

FH» [ ¢ ]

CESOLVED |

ALL YARS=8

EAD GUESS

CALCULATIMG
CLEALL? Y M

CLR EGM? ¥ M

CLE PGMS? Y H

ODIVIDE BY @

1-F ( )



2-F (

X gamma

! " EGHM LIST TOF

[FN  SOLVE CALCULATE /
PGM  EQN RPN ALG , R/S
-
r>n -
.n>1016 ,n r
| |
n / n
.n /
/ n
NERD |
| |
| |
90 X =

=] (ASIN =) (ACOS] m
(=) ([EYP) IE@) (ATAN] =
(&N)(HYP) I@)(ACOS] =

factorial

DUFLICAT.LEL

EGM LIST TOF

INTEGREATIHG

IMTEREUFTED

IMVALID DATHAH

IMVALID VAR

IMVALID !



/

o ()
/
(0+i0)
() )
(0 )
.(0+i0)
.(B-3 )
(B )
)
(
( )
MOMEXISTEMT
/ ( )
/

(B MEW(2) (2PGH))

/
/
(PFGM EQN  /
.(D-8 )
, /
J( SOLVE )

/

FH

) SOLVE

IMVALID w»*

IMVALID ¢I2

IMVALID €T

LOGCE>

LOGCHEG?

/ MEMOREY CLEAR

MEMORY FULL

MO

MOMEXISTENT

XEQ) , [G0)

/ MO LABELS

MO SOLUTION

MULT SOLUTION

MO ROOT FHO

SOLVE

3-F ( )



!( )
+9.99999999999E499
(17-1 ' /)
5 6 /
! " FRGHM TOP
(JFN  SOLVE )
[ FN d variable SOLYE variable ()
/
MEMORY CLERR [FN  SOLVE
(FH=label) /
SOLVE

SOLVE

SOLVE

OVERFLOW

FRGM TOF

RUHHIHG [&

SELECT FH

SOLVE ACTIVE

SOLVECSOLVE?

FH> [SOLVEC

SOLVING

SERTCHEG?



.BIN  OCT ,HEX

.—34,359,738,368 < n <34,359,738,367

) 21st

HEE!

| FN  soLVE

STAT ERROR

|
|
.
r | ]
(
X |
SYHTAX EREOR
:
TOOBIG
®EQ OVERFLOW
( 20
YES
(
355-0K
335-FAIL

© Z@ay HF DEV CO. L. P,

5-F ( )






A ] (1FI¥) n FIX n
(=]
/
(—DEG )
*
15-1 (*£)Changes the sign of a number. +/-
19-1 Addition. Returns y + x. y+x +
19-1 (=) Subtraction. Returns y — x. y—X -
19-1 (X] Multiplication. Returns y x x. Y X X x
19-1 (=] Division. Returns Y+ X y+X +
16-6 Power. Indicates an exponent. / . A
4-1 Deletes the last digit keyed in; clears
8-1 x; clears a menu; erases last / X /
3-6 function keyed in an equation;
deletes an equation; deletes a
/=13 program step.
28-1 Displays previous entry in catalog;
3-6 moves to previous equation in /
11-13 equation list; moves program
20-13 pointer to previous step.
28-1 Displays next entry in catalog;
3-6 moves to next equation in equation /
11-13 list; moves program pointer to next
~ line (during program entry); executes
20-13 | ihe current program line (not during )
program entry). )
(




14-1 Moves the cursor and does not or>]
delete any content.
11-1 Scrolls the display to show more mE)_Jor
4-6 digits to the left and right; displays =]
8-11 the rest of an equation or binary
number; goes the next menu page in
the CONST and SUMS menus.
.SUMS CONST
3-6 Goes to the top line of the equation =)
or the first line of the last label in
program mode. /
/
3-6 Goes to the last line of the equation =)
or the first line of the next label in
program mode. /
/
1 5-6 (B3] ) Separates the two or three =] ,
arguments of a function.
1 18-1 Reciprocal. / 1/x
1 2-4 [>]] Common exponential. / =) 10%
Returns 10 raised to the x power. 10 . /
x ()
1 6-4 ()=] (%] Percent. =) %) %
Returns (y x x) + 100.
. (yxx)=100
1 6-4 =) Percent change. =) %CHG
Returns (x — y)(100 + y). .(x=y)(100 = y)
1 3-4 [<]] Returns the approximation = T
3.14159265359 (12 digits). ( 12) 3.14159265359
| 2-12 Accumulates (y, x) into statistics (v, x) / o+
+ registers.
| 2-12 =) Removes (y, x) from (v, x) =) -
- statistics registers. .
T 1112 =) (0 ) (2x) = SIS 51 (5%) =
Returns the sum of x-values. X
11 11-12 =) (sums) (> 1>10>] (2x7) =) sums) > 1101 X2
Returns the sum of squares of x- X (Ex%)
values.
T 11-12 (> ][V [ [ [N [ | R > 1 [SUYH [P [P [ | [ Xy
(Exw) (E=w)
Returns the sum of products of x-and
y-values.




11-12 =) SUMSI>10>] (Ev) =) SuMs) >0 (2v) Zy
Returns the sum of y-values. y
11-12 | @ EMs) 11130 (2v9) @=) Sums) 2101021021 zy?
Returns the sum of squares of y- -y (Ev2)
values.
7-12 | @) a0 (o%) @) S22 (o) ox
Returns population standard
deviation of x-values: “
—\2 .
2 (x =%) +n S % <n
7-12 | @) 21212 (ov) B\ L1010 (o) oy
Returns population standard
deviation of y-values: ly
Z(y,‘_y)2+n \[Z(yl‘_y)2+n
2-8 Fid ) (@I ( |variable @0 ( [FM d )| FNd variable|
7-15 Integrates the displayed equation or . ( )
the program selected by FN=, using
lower limit of the variable of
integration in the Y-register and _
upper limit of the variable of
integration in the X-register. y
X
6-6 (O parenthesis. press to leave |.(parenthesis ( / ) ()
the parenthesis for further
calculation.
1-10 (=) 1J: A vector symbol for =)l []
performing vector operations
1-9 | E@]8]: A complex number symbol =8 ]: 0
for performing complex number
operations
4-6 RCL)variable Value of named RCUvariable( ) A through Z
variable.
17-4 =) Absolute value. ‘X‘ =) ABS
‘X‘ Returns
4-4 =) Arc cosine. =) ACOS
Returns cos ~1x. .cos ~1x
6-4 &) HYP)(E) &) (HYP) (=) ACOSH
Hyperbolic arc cosine.
Returns cosh ~1 x.
.cosh-1x
9-1 Activates Algebraic mode. / (4])(4A

3-G




LG)
1 16-6 =) Common exponential. / =) ALOG
Returns 10 raised to the specified / 10
power (antilogarithm). ( ).
23-1 (&) (DISPLAY] (4)(4ALL) (&) (DisPLAY] (4] (4ALL) AlL
Displays all significant digits. May
have to scroll right (R (>]) to see (Em))
all of the digits.
T 4-1 &) [OCIC)1)(1AND) &) [IOGIC)1)(1AND) AND
Logic operator .
1| 14-4 =) [<]] ARG
Replaces a complex number with its
Argument 8" g
1 4-4 ) (ASIN) Arc sine 3 (ASN)Arc sine ASIN
Returns sin =1 x. .sin-1x
1 6-4 &) HYP)(IE>) &= Er)E) ASINH
Hyperbolic arc sine.
Returns sinh =1 x.
.sinh -1 x
1 4-4 =) Arc fangent. / @) AAN) ATAN
Returns tan =1 x. tan-1x
1 6-4 &) (HYP)(I=) &) HYP) =) ATANH
Hyperbolic arc tangent. /
Returns tanh =1 x. tanh-1x
1 11-12 B LRIGIGIBIGI () | @ LRISIGIGI5G] (B) b
Returns the y-intercept of the y /
.X —mY regression line: - v
9 X—-mY
1] 2-11 =] 1) =) (BASE (Bk) b
Indicates a binary number
1-11 Displays the base—conversion menu. =)
/
1-11 7 (BASE) (A)(4B ) 7 (BASE) (A)(4B1H) BIN
Selects Binary (base 2) mode. | (2 ) /
1-1 Turns on calculator; clears x; clears /
4-1 messages and prompts; cancels / X
8-1 menus; cancels catalogs; cancels
equation entry; cancels program /
29-1 entry; halts execution of an equation;
3-6 halts a running program.
7-13
19-13




4-5 =) Denominator. / =) Denominator. /c
Sets denominator limit for displayed .
fractions to x. If x = 1, displays /
current /c value. X
/c x=1
14-4 =) Converts ° Fto ° C. SC °F =] =°C
12-14 (&) (FLAGS] (2] (2CF) n &) [FLAGS]) (2] (2CF) n CFn
Clears flag n (n = O through 11). 0 n )n /
(11
5-1 Displays menu to clear numbers or / ]
28-1 parts of memory; clears indicated
variable or program from a MEM /
catalog; clears displayed equation; /
/ . MEM
29-1 Clears all stored data, equations, / =)
and programs. 3]
(3ALL)
23-13 Clears all programs (calculator in ) / =)
Program mode). ( / 3]
(ZPGM)
7-13 Clears the displayed equation / [>]]
(caleulator in Equation mode). / ) 3]
(FE@N)
(
1-12 (/=] (CLEAR] (4] (43) / =) [CLEAR) (4] (42) Clz
Clears statistics registers.
63 @) (0 ) (2vARs) @) CER(Z) @RS CIVARS
Clears all variables to zero. /
3-2 ¥3) (CLEAR] (1] (1%) /=) CEaR ] (1F) Clx
7-2 Clears x (the X-register) to zero. (X )
7-13
4-1 (F=3) (CLEAR) (6] (SCLVYARx) [=>]] (6] (5CLYARx) CLVARx
Clears indirect variables whose /
address is greater than the x
X
address to zero.
7-2 ()] (CLEAR]) (5] (55TK) /=) (CLEAR) (5] (S55TK) CLSTK
Clears all stack levels to zero. /
14-4 =) Converts inches to =) -CM
centimeters.




follows.

1 15-4 | &) Combinations of n items | n =) nCr
taken r at a time. r
Returns n! = (r! (n —r)!).
n!+(r! (n—r)!)
1 3-4 Cosine. Cosine Cos
Returns cos x. CoS X
1 6-4 =) Hyperbolic =) Hyperbolic COSH
cosine. Returns cosh x. cosine
cosh x
8-4 Accesses the 41 physics constants. 41 (W) (CONST)
T 1-1 =) (BASE)(5] (S54) /=) (BASE)(5] (S54) d
indicates a decimal number .
1-11 (’I3) (BASE) (1] (1DEC) (/=) (BASE] (1] (1DEL) DEC
Selects Decimal mode. /
4-4 (1) (1DEB) (7 EASE) (1) (10EC) DEG
Selects Degrees angular mode. /
1 13-4 (’2](=DEG] Radians to degrees. Radians (r=3) (=DEC) —DEG
Returns (360/2n) x. .(360/2m) x degrees
21-1 Displays menu to set the display (&) (DisPLAY]
format, radix (+ or ¢ ), thousand
separator, and display format of
complex number. ¢ )
18-14 [~]] variable =) variable(_sis) DSE variable
Decrement, Skip if Equal or less. For
control number ccccccc. fffii stored in
a variable, subtracts ii (increment g
value) from cccccec (counter value) ccceccc. fffii
and, if the result <fff (final value), ( ) ii
skips the next program line. ( ) ccecece
( ) <fff
1 15-1 Begins entry of exponents and adds / (E]
"E" to the number being entered. g
Indicates that a power of 10 10 /




221 N A (3)(FENG)n DA 3)(FENE)n ENG n
Selects Engineering display with n
digits following the first digit (n = 0 )
through 11). n "
(11
22-1 Causes the exponent display for the (=ENGJ)and
number being displayed to change /
in multiple of 3.
19-1 Separates two numbers keyed in ENTER
4-6 sequentially; completes equation
11-6 entry; evaluates the displayed
equation (and stores result if )
appropriate). A
6-2 ENTER Y X ENTER
Copies x into the Y-register, lifts y 7 7
into the Z-register, lifts z into the T- t
register, and loses t. ’
3-6 Activates or cancels (toggles) )
7-13 Equation—entry mode. /
1-4 =) Natural exponential. / /[ mE3lex] Ex
Returns e raised to the x power. e
x()
16-6 (’=@)(e7]) Natural exponential. / =) EXP
Returns e raised to the specified e
power. ( )
14-4 =) Converts °C to °F. °F°C =) =°F —°F
1-5 Turns on and off Fraction—display / [>]]
mode.
21-1 (OisPlar) (T)(1FI%) n ([@sPAY) (T)(1FI%)n FIX n
Selects Fixed display with n decimal n
places: 0 <n< 11. 0<n<11:
12-14 | Displays the menu to set, clear, and (&) (FLAGS
test flags.
/
1-15 (<] label / (<] FN = label
7-15 Selects labeled program as the /
current function (used by SOLVE )
FN). ] and (] N SOLVE
Error! | &) (NTG](5])(5FF) Fractional part &) INTG](5])(5FF) FP
Referen of x. X
ce
source
not




4found.
17-
12-14

1 14-4

21-13

21-13

BN [FLAGS) (3)(3F57) n

If flag n (n = O through 11) is set,
executes the next program line; if
flag n is clear, skips the next
program line.

=) Converts liters to

gallons.

(3] (3GRD)Sets Grads

angular mode.

Sets program pointer to line nnn of
program label.

Sets program pointer to PRGM TOP.

) (@86 (¢h)

Indicates a hexadecimal number
7 (EAE)(2) (2HEX)

Selects Hexadecimal (base 16)
mode.

Displays the HYP_ prefix for
hyperbolic functions.

&) (FLAGS]) (3)(3F57%) n
(11 0 n)n

=)
(MODE] (3] (3GRD)
.Grads

nnn

PRGM
.TOP

@) EASE) 6] (5h)

1@ [EASE)(Z) (2HEX)
) /
(16

HYP_

FS? n

—GAL

GRAD

(GT0] (] label

nnn

[cire] NN RN |

HEX

(&) (HYP]

1 13-4

11 13-4

21-14

11 14-4

=) =HMS)

Hours to hours, minutes, seconds.
Converts x from a decimal fraction
to hours—minutes—seconds format.

&) (HMS=)

Hours, minutes, seconds to hours.
Converts x from hours—minutes—
seconds format to a decimal
fraction.

Used for entering complex numbers

] /], ) /)
. Value of variable whose letter
corresponds to the numeric value
stored in variable 1/J.

=) Converts centimeters to

inches.

=] (=HMmS]

Re)(m]) /], solm] /W)
/

JI

&) (=in)

—HMS

HMS—

]

(/)

=N




16-6

2-4

18-4

13-13

([BW)(INTG] (2](2IMT-) Produces

the quotient of a division operation
involving two infegers.

&N (INTG] (2)(2IMT-) Produces
the quotient of a division operation
involving two integers.

=) (4])(4INTG) Obtains the
greatest integer equal fo or less than
given number.

=) variable

Recalls the variable to the X—
register, displays the variable's
name and value, and halts program
execution. Pressing (to resume
program execution) or (to
execute the current program line)
stores your input in the variable.
(Used only in programs.)

ENNTG) (2)(2INT-)

ENINTG) (Z)(2INT-)

[EW) (NTG) (4)(4 THTE)

= variable ()

IDIV

INT=+

INTG

INPUT variable

16-6

17-4

18-14

Reciprocal of argument.

=) (6)(5IF) Integer part

of x.

=) variable

Increment, Skip if Greater.

For control number cccccec. fffii
stored in variable, adds ii

/

. B INTG)(6)(E1F)

X.

=) ()

ccccccc. fffii

INV

P

ISG variable

9-G




(increment value) to cccccee ) cccccece ) ii
(counter value) and, if the result >
fff (final value), skips the next ) > fif (
program line. (
1 14-4 =) Converts pounds to =) —KG
kilograms.
1 14-4 (I3])(=kM) Converts miles to. E)=kM)| KM
kilometers
1 14-4 ()@) (=1) Converts gallons to =) d!
liters.
8-2 =) =) LASTx
Returns number stored in the LAST X
X register. '
1 14-4 &) &) [=h)| 18
Converts kilograms to pounds.
3-13 =) label =) label ( / )| LBL label
Labels a program with a single /
letter for reference by the XEQ, XE
GTO, or FN= operations. (Used Q
only in programs.) |. FN= operations( ) GTO
( )
1 1-4 (=) (LN] Natural logarithm. / =N IN
Returns log ¢ x. Jog o x
1 1-4 =) Common logarithm. =) LOG
Returns log 10 x.
Jdogipx
4-12 Displays menu for linear =)
regression. /
1 7-12 &) LRI (m) &) LRI ] (m) m
Returns the slope of the regression :
2 % Ve ln V Vv % e (5l | o o
)% X )I+Z(xi=Y Nyj-X line: [2(x; J2X)]+2(xi-¥ )y~ X [S(xi-
*
1 14-4 (&) (=MILE) Converts kilometers &) (=>MIE)| - MILE
to miles.
28-1 Displays the amount of available =)
memory and the catalog menu. /
22-13 Begins catalog of programs. / =) 2]
(2FGR)
4-3 Begins catalog of variables. / =) N
(1VAR)
7-1 Displays menu to set ALG or RPN
mode or angular modes.

10-G




4-4 RPN ALG  /
/
11-12 =) U () @ sws) () 0
Returns the number of sets of data
points.
4-11 &N OGIC) (5] (SHAND) &N OGIC) (5] (SHAND) | NAND
Logic operator .
4-11 € ([05IC) (6] (K0R) W (0GIC) (6] (5KOR) |NOR
Logic operator .
4-11 BN (OGIC) (4] (4HOT) ENOGIC) (4] (4HOT) | NOT
Logic operator .
2-11 ) ESAE) (7o) @) B (70) |o
Indicates an octal number .
1-11 /@) [EASE)(3) (30CT) ) BEASH(3) (FOCT)| OcT
Selects Octal (base 8) mode. / ) /
.(8
4-11 &) (OcIC) (3] (30R) &) (ScIC) (3] (0R) | OR
Logic operator .
1-1 Turns the calculator off. [>]]
15-4 =) Permutations of n items n [~]] nPr
taken r at a time. Returns nl+(n — nl+(n—r)! r
o | ! .
6-13 Activates or cancels (toggles) ( ) [=>]]
Program-entry mode.
18-13 =) Pause. PSE
19-13 Halts program execution briefly to X
display x, variable, or equation,
then resumes. (Used only in
programs.) ( )
7-12 &) LRI>] (2] (v) Returns &) LRI 2] (v)|r
the correlation coefficient Ty
between the x— and y-values:
20Xy =y) ¥ xRy, - 7)
\/Z(X,-—X) x(y; —y) \/Z(X,-—Y)QX()’,-—V)Z
25-1 0800 (O00() | (=w)(DiskAY) (1J(0] (1&w(() g |roa
Changes the display of complex | [0 00000 000 0O0OOO 0O0ODOD
numbers. LSl
4-4 (FODE) (1] (1RAE) (MODE) (1] (RAD)| RAD

Selects Radians angular mode.

11-G




. radians

1 13-4 (&) (=RAD] Degrees to radians. .radians = —RAD
Returns (27/360) x. .(27/360) x
23-1 BN O (6 (6) (€ (OSEAT) (6) (6 + )| RADIX,
Selects the comma as the radix ( )
mark (decimal point). '
23-1 oA (5] (3 ) [EN)([@ispLAY) (5] (5 - )| RADIX .
Selects the period as the radix A )
mark (decimal point).
1 15-4 =) Executes the | .RANDOM [>]) RANDOM
RANDOM function. Returns a
random number in the range O
10
through 1.
7-3 RCL] variable / RCL)| RCL variable
Recall. X
Copies variable into the X-
register.
7-3 variable variable ( )| RCL+ variable
Returns x + variable.
+ X
7-3 (=] variable. =) ()| RCL- variable
Returns x — variable.
- X
7-3 x] variable. ] ()| RCLx variable
Returns x x variable.
. X X
7-3 (=] variable. = ( )| RCL+ variable
Returns x + variable.
+ X
*
| 166 () (NI (3)( 3Rmar) BN (NG (3)(3Rmar) | RMDR
Produces the remainder of a
division operation involving two
integers.
1 18-4 (&) (RNDJRound. n X (&9]) (RNDJRound| RND
8-5 Rounds x to n decimal places in /
FIX n display mode; to n + 1 . FIX
significant digits in SCI n or ENG n+ n
n display mode; or to decimal |SCI'n /
number closest to displayed ENG

fraction in Fraction—display mode.

12-G




9-1 (MODE] (5])(SRFH)Activates (MODE] (5](SRFH)
Reverse Polish notation.
4-13 =) Return. =) Return| RTN
2-14 Marks the end of a program; the
program pointer returns to the top /
or to the calling routine.
3-2 Roll down. .[RY) Roll down RV
Error! | Moves tto the Z-register, z to the 7 7 t
Bookmar Y-register, y to fhg X—r(?glsier, « X v Y
k not and x to the T-register in RPN
.no mode. .RPN / T
defined. Displays the X,Y,Z,T menu to
review the stack in ALG mode. T ZY X
.ALG /
3-2 =) Roll up. i~ Roll up R
Error! | Moves tto the X—register, z to the
Bookmar T-register, y to the Z-register, z X t
k not and x to the Y-register in RPN « 7 T
.no mode. Y
defined. RPN / Y
Displays the X,Y,Z,T menu to
review the stack in ALG mode. T ZYX
/
ALG
4-12 Displays the standard-deviation [>]]
Menu.
22-1 () (OS] (2)(25CT) B[O (Z)(25C1) n| Sl n
Selects Scientific display with n
decimal places. (n=0 thro]uci:ﬂ; o n ) .n
(11
15-4 (B¥) [SEED]Restarts the random- =) SEED
number sequence with the seed ) |X|
A
12-14 (€% (FLAGS) (T)(L5F) n /€% EAGS))(15F) n| SF n
Sets flag n (n =0 through 11). | (11 0 n )n /
17-4 &) (INTG)(1)(1 5GH) Indicates B (INTG) (T](15GH)| SGN
the sign of x. X
13-G




19-6
23-13

3-4

1-7

1-15

14-14

16-6
16-6

2-3

6-3

6-3

6-3

6-3

Shows the full mantissa (all 12
digits) of x (or the number in the
current program line); displays
hex checksum and decimal byte
length for equations and
programs.

Sine.

Returns sin x.

=) Hyperbolic sine.

Returns sinh x.

(F2) (SOLVE] variable

Solves the displayed equation or
the program selected by FN=,
using initial estimates in variable
and x.

Inserts a blank space character
during equation entry.

(=) (x?] Square of argument.
Square root of x.

=) variable

Store. Copies x into variable.

=) (S10) variable

Stores variable + x into variable.

) (STO) (=] variable

Stores variable — x into variable.

=) (S10) variable

Stores variable x x into variable.

) (ST0) (=] variable

Stores variable + x into variable.

Sine.
.sin X

[<]] Hyperbolic sine

.sinh x

(/2] (SOLVE] variable ()

[~>]]Ea]
X

®3)(STQ) variable ()
. X

=) S10) variable ( )
X + ()

=) (STO) (=) variable ()

X -

[=>]]S1e]] variable ()
. X X

WSS (D variable ()

X =+

&) [SHOW

SIN

SINH

[E)SOLVE variable

[73) (SPACE]

SQ
SQRT

STO variable

STO + variable

STO - variable

STO x variable

STO =+ variable

19-13

4-12

Run/stop.

Begins program execution at the
current program line; stops a
running program and displays the
X-register.

Displays the summation menu.

STOP

=) SuMs

14 - G




3-4

6-4

4-3
15-13

12-6

2-4

2-4

2-4

B 50l (=x)
Returns sample standard
deviation of x-values:

V2 =%+ (n-1)

m= A5 (=v)
Returns sample standard
deviation of y-values:

Dy -y (-1

Tangent. Returns tan x.

=) Hyperbolic
fangent.
Returns tanh x.

(&=W) (VIEW] variable

Displays the labeled contents of
variable without recalling the
value to the stack.

Evaluates the displayed equation.

label
Executes the program identified

by label.
=) (>2) Square of x.
Square root of x.

&) (%] The xth root of y.

@ 54 (5%)

X

2 =%+ (n-1)

@ EA3 (s¥)

y

D ly =P+

.tan x /

TAN
/ &) HYP) (AN

.tanh x

(] variable ()
/

XEQ) label (1 )

X [>1]E]
X

=)

RY xth

TAN

TANH

VIEW variable

XEQ

XEQ label

)% EE
Returns the mean of x values:
Z Xj+n.

) * EWED(

2ZXi+n

X|

11-12

15-4

)= (&) (

Given a y-value in the X-register,
returns the x-estimate based on

= (y - b) + X the regression line:
m.

()] (1] Factorial (or gamma).
Returns (x)(x = 1) ... (2)(1), or T (x

) % B LR (

X y

=(y-b)+mX

(gamma )

= ]!

15-G




+1). )(x=1)...(2)(2), or T (x + 1)
16-6 (&3] (2] The argument] root of .2 1 &) )| XROOT
argument.
4-12 w )Returns % EEN 1] ( (w)* @IEDCICS] ( wX
weighted mean of x values:
(Zyixi) = Zyi. X
(Zyixi) = Zy;
4-12 Displays the mean (arithmetic ) =)
average) menu. (
8-3 =) x exchange. X &) (x3]| x<> variable
Exchanges x with a variable.
X
4-2 x exchange y. .y X x<>y
Moves x to the Y-register and y
to the X—register. X Y X
7-14 Displays the "x?y" comparison =)
tests menu. [x?y"
7-14 B @) () B T (2)| xey
If x2y, executes next program
line; X2y
if x=y, skips next program line.
X=y
*
714 & 5] [ B 5] ()] 7
If x<y, executes next program
line; X<y
if x>y, skips next program line.
x>y
7-14 &) 22 10](<) &) (X2ANCI(<)| x<y?
If x<y, executes next program
line; X<y
if x>y, skips next program line.
xX=y
7-14 &) 1020 (>) &) X212 (5)] ey?
If x>y, executes next program
line; x>y
if x<y, skips next program line.

16 -G




X<y

7-14 &) 2] () &) NI (2)) 2y?
If x>y, executes next program
line; xzy
if x<y, skips next program line.
X<y
7-14 | =0 & ENCIICE] (7)) =y?
(%)
If x=y, executes next program x=y
line;
if x2y, skips next program line.
XZY
7-14 Displays the "x?0" comparison =)
tests menu. S'x?0"
7-14 =) (#) [} (#)] =07
If x20, executes next program
line; x#0
if x=0, skips the next program
line.
x=0
7-14 = @5 () 7 (205 (<) x<0?
If x<O, executes next program
line; x<0
if x>0, skips next program line.
x>0
7-14 B 5100 (4 B @500 (<)|x<07
If x<O, executes next program
line; x<0
if x>0, skips next program line.
x=0
74 B 0515100 0) B 05100 0)] 007
If x>0, executes next program
line; x>0
if x<0, skips next program line.
x<0
7-14 @) x20) 121010 (2) @) x2011013] (2)] 0?

If x>0, executes next program
line;
if x<0, skips next program line.

x>0

17-G




x<0

=)
(=)

If x=0, executes next program
line;

if x20, skips next program lire:

=) x20> 111015 (5)
x=0

x#0

x=07?

25-1

11-12

2-4

ENOCC) Z)(2K0R)
Logic operator

(€M (DS (95 (RBN) )

Changes display of complex
numbers.

EM(OSEA) ()1 1+
&PN))

Changes display of complex
numbers. ALG mode only.

)+ (&) (
Returns the mean of y values.
Zyi+n.

)i B LRI (

Given an x-value in the X-
register, returns the y-estimate

= ¥ based on the regression line:
mx+ b.

Power.

Returns y raised to the xth power.

B 106K (2)(2X0F)

(&%) (DISPLAY @(Sx ReN))

ENOEFA) (11 1+ )

ALG

)7 B ENG]

y /
Yyj+n

)& @ LR (

X X

=mx+b.Y

-xth.

Power( 1 )

XOR

xiy

x+yi

x|

>

18-G




Special Characters
[ FN. See integration

% functions, 4-6
¢4, 1-15
@ (in fractions), 1-26
n, 4-3, A-2

A v annunciator
in fractions, 5-2
in fractions, 5-3

4« ®» annunciators
equations, 6-7
binary numbers, 11-8
equations, 13-7
(=). See backspace key

_. See digit—entry cursor

(). See integration
k3 I annunciators, 1-3

I annunciator, 1-1, A-

3

A

A..Z annunciator, 1-3, 3—
2, 6-4

absolute value (real
number), 4-17

addressing

indirect, 14-20, 14-21,
14-23

ALG, 1-9

compared to equations,
13-4

in programs, 13-4

Algebraic mode, 1-9

/

%

AZ

ALG

ALL format. See display
format

in equations, 6-5

in programs, 13-7
setting, 1-23

alpha characters, 1-3
angles

between vectors, 10-5
converting format, 4-13
converting units, 4-13
implied units, 4-4, A-2

angular mode, 4-4, A-2,
B-4

annunciators

alpha, 1-3

battery, 1-1, A-3

flags, 14-12

list of, 1-13

low—power, 1-1, A-3
shift keys, 1-2

answers fo questions, A-1
arithmetic

binary, 11-4

general procedure, 1-18
hexadecimal, 11-4

intermediate results, 2—
12

long calculations, 2-12
octal, 11-4

order of calculation, 2-
14

stack operation, 2-5, 9-2

assignment equations, 6—

ALL



9, 6-11,6-12, 7-1

B

backspace key
canceling VIEW, 3-4
clearing messages, 1-4

clearing X-register, 2-3,
X /I 2-7

deleting program lines,
13-20

equation entry, 1-4
leaving menus, 1-4, 1-8
operation, 1-4
balance (finance), 17-1
base

affects display, 11-6
arithmetic, 11-4
converting, 11-2
default, B-4
programs, 11-8, 13-25
setting, 11-1
base mode
default, B-4

equations, 6-5, 6-11,
13-25

programming, 13-25
sefting, 13-25
batteries, 1-1, A-3
Bessel function, 8-3

best-fit regression, 12-7,
16-1, C-13

BIN annunciator, 11-1

binary numbers. See

VIEW

Bessel

BIN

numbers

arithmetic, 11-4
converting to, 11-2
range of, 11-7

scrolling, 11-8

typing, 11-1

viewing all digits, 11-8
borrower (finance), 17-1

branching, 14-2, 14-16,
15-7

C

9%CHG arguments, 4-6,
C-3

adjusting contrast, 1-1
canceling prompts, 1-4

canceling VIEW, 3-4
clearing messages, 1-4

clearing X-register, 2-3,
2-7

leaving catalogs, 1-4
leaving menus, 1-4, 1-8
on and off, 1-1
operation, 1-4

/c value, 5-4

leaving Equation mode, 6-

3

leaving Equation mode, 6-
4

canceling prompts, 6-14
stopping SOLVE, 7-8
stopping integration, 8-2

leaving Program mode,
13-7

CHG%

VIEW

c/

SOLVE



leaving Program mode,
13-7

canceling prompts, 13-15

interrupting programs, 13-
19

stopping SOLVE, 15-1
stopping integration, 15-8
/c value, B-4

/c value, B-6

calculator

adjusting contrast, 1-1
default settings, B-4
environmental limits, A-2
questions about, A-1
resetting, A-4, B-2
self-test, A-5

shorting contacts, A-5

testing operation, A-4, A—
5

turning on and off, 1-1
cash flows, 17-1
catalogs

leaving, 1-4

program, 1-28, 13-22
using, 1-28

variable, 1-28, 3-4
chain calculations, 2-12

change-percentage
functions, 4-6

changing sign of numbers,
1-15, 9-3

checksums

equations, 6-19, 13-7,
13-24

programs, 13-22

CLEAR menu, 1-5
clearing
equations, 6-9

general information, 1-4

SOLVE memory, 1-29, A-1

numbers, 1-17

c/ programs, 1-29, 13-23
c/ statistics registers, 12-2
variables, 1-28

X-register, 2-3, 2-7

clearing memory, A-4, B-
3

combinations, 4-15

commas (in numbers), 1-

23, A-1

comparison fests, 14-7
complex numbers
argument value, 4-17
coordinate systems, 9-5
entering, 9-1

on stack, 9-2

operations, 9-2

viewing, 9-2

conditional tests, 14-6,
14-7, 14-9, 14-12, 14~
17

constant (filling stack), 2-7
Continuous Memory, 1-1
contrast adjustment, 1-1
conversion functions, 4-10
conversions

angle format, 4-13

angle units, 4-13

coordinates, 4-10

CLEAR



length units, 4-14
mass units, 4-14

number bases, 10-1, 11—

1

temperature units, 4-14
time format, 4-13
volume units, 4-14
coordinates

converting, 4-10

correlation coefficient, 12—
8, 16-1

cosine (trig), 4-4, 9-3, C-
6

curve fitting, 12-8, 16-1

D

Decimal mode. See base
mode

decimal point, A-1
degrees
angle units, 4-4, A-2

converting to radians, 4-
14

denominators

controlling, 5-4, 14-10,
14-14

range of, 1-26, 5-2
sefting maximum, 5-4

discontinuities of functions,

D-5

display

adjusting contrast, 1-1
X-register shown, 2-3
display format

affects integration, 8-2, 8-

radians

6, 8-7
affects rounding, 4-18
default, B-4

periods and commas in,

1-23, A-1
sefting, 1-21, A-1
do if true, 14-6, 15-6

DSE, 14-18

E
clearing stack, 2-6

copying viewed variable,
13-15

duplicating numbers, 2-6

ending equations, 6-4, 6—
8, 13-7

evaluating equations, 6—

10, 6-11

separating numbers, 1-

17, 2-6
stack operation, 2-6
(E] (exponent), 1-16

E in numbers, 1-15, 1-
22, A-1

ENG format, 1-22, See
also display format

entry cursor
backspacing, 1-4
meaning, 1-17
EQN annunciator

in equation list, 6-4, 6-7

in Program mode, 13-7
EQN LIST TOP, 6-7, F-2

equality equations, 6-9,

EQN



6-11, 7-1

equation list

adding to, 64
displaying, 6-6
editing, 6-8

EQN annunciator, 6-4

in Equation mode, 6-3

operation summary, 6-3

Equation mode

backspacing, 1-4, 6-8

during program entry, 13-
7

leaving, 1-4, 6-3

shows equation list, 6-3

starting, 6-3, 6-7
equations

and fractions, 5-9

as applications, 17-1

base mode, 6-5, 6-11,
13-25

checksums, 6-19, 13-7,
13-24

compared to ALG, 13-4
compared to RPN, 13-4

controlling evaluation, 14-
11

deleting, 1-5, 6-9

deleting in programs, 13-
20

displaying, 6-6

displaying in programs,
13-16, 13-18, 14-11

editing, 1-4, 6-8

editing in programs, 13-7,

13-20
entering, 6—4, 6-8

entering in programs, 13-

7

evaluating, 6-10, 6-11,
6-12,7-7, 13-4, 14-11

EQN functions, 6-5, 6-16, G-1

in programs, 13-4, 13-7,
13-24, 14-11

integrating, 8-2
lengths, 6-19, 13-7, B-2

/ list of. See equation list

long, 6-7

memory in, 13-16
multiple roots, 7-9
no root, 7-8
numbers in, 6-5

numeric value of, 6-10,
6-11,7-1,7-7, 13-4

operation summary, 6-3

/ parentheses, 6-5, 6-6, 6-
15

precedence of operators,
6-14

ALG prompt for values, 6-11,
6-13

RPN
prompting in programs,
14-11, 15-1, 15-8
roots, 7-1

scrolling, 6-7, 13-7, 13-
16

solving, 7-1, D-1
stack usage, 6-11

storing variable value, 6—
12

syntax, 6-14, 13-16

TVM equation, 17-1

TVM



types of, 6-9

uses, 6-1

variables in, 6-3, 7-1
with (1)/()), 14-23
error messages, F-1
errors

clearing, 1-4
correcting, 2-8, F-1

estimation (statistical), 12—
8, 16-1

executing programs, 13-
10

exponential curve fitting,

16-1

exponential functions, 1-
16, 4-1, 9-3, C-5

exponents of ten, 1-15,

1-16

expression equations, 6—
10, 6-11, 7-1

F

FN. See integration

not programmable, 5-10

toggles display mode, 5-
1, A-2

toggles flag, 14-9

factorial function, 4-15

financial calculations, 17—
1

FIX format, 1-21, See also
display format

flags

annunciators, 14-12
clearing, 14-12
default states, 14-9

() equation evaluation, 14—
11

equation prompting, 14—
11

fraction display, 14-10
meanings, 14-9

( ) operations, 14-12
overflow, 14-9

sefting, 14-12

testing, 14-9, 14-12

unassigned, 14-9

flow diagrams, 14-2

10 / FN=
in programs, 15-6, 15-10

integrating programs, 15—
8

solving programs, 15-1

fractional-part function, 4-
17

Fraction—-display mode

affects rounding, 5-8

affects VIEW, 13-15

setting, 5-1, A-2

- fractions

accuracy indicator, 5-2,
_ 5-3

and equations, 5-9

and programs, 5-10, 13-
15, 14-9

denominators, 1-26, 5-4,
FIX / 14-10, 14-14

displaying, 5-2, 5-4, A-2

VIEW



flags, 14-9

formats, 5-6

not statistics registers, 5-2
reducing, 5-2, 5-6
rounding, 5-8

round—off, 5-8

setting format, 5-6, 14-
10, 14-14

typing, 1-26

functions

in equations, 6-5, 6-16
list of, G-1

names in display, 13-8
nonprogrammable, 13-24
real-number, 4-1

single argument, 1-18, 2—

9

two argument, 1-19, 2-9,
9-3

future balance (finance),
17-1

G

GTO

finds PRGM TOP, 13-6,
13-21, 14-6

finds program labels, 13-
10, 13-22, 14-5

finds program lines, 13-
22, 14-5

gamma function, 4-15
go to. See GTO

grads (angle units), 4-4,
A-2

Grandma Hinkle, 12-7
Greatest integer, 4-18

grouped standard

PRGM TOP

gamma

) grads

deviation, 16-18
GTO, 14-4, 14-17

guesses (for SOLVE), 7-2,
7-7,7-8,7-12, 15-6

H

help about calculator, A-1
HEX annunciator, 11-1
hex numbers. See numbers
arithmetic, 11-4
converting to, 11-2

range of, 11-7

typing, 11-1

hexadecimal numbers. See
hex numbers

Horner's method, 13-26

humidity limits for
calculator, A-2

hyperbolic functions, 4-6,
C-6

|
i, 3-9, 14-20
(), 14-20, 14-21, 14-23

imaginary part (complex
numbers), 9-1, C-8

indirect addressing, 14—
20, 14-21, 14-23

INPUT
always prompts, 14-11

entering program data,
13-12

in infegration programs,
15-8

in SOLVE programs, 15-2
responding to, 13-14

integer—part function, 4—

HEX

.hex

hex

SOLVE
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integration

accuracy, 8-2, 8-6, E-1
difficult functions, E-2, E-7

display format, 8-2, 8-6,
8-7

evaluating programs, 15-

7
how it works, E-1
in programs, 15-10

limits of, 8-2, 15-8, C-8,
E-7

memory usage, 8-2
purpose, 8-1

restrictions, 15-11

results on stack, 8-2, 8-6
stopping, 8-2, 15-8
subintervals, E-7

time required, 8-6, E-7

transforming variables, E-
9

uncertainty of result, 8-2,
8-6, E-2

using, 8-2, C-8
variable of, 8-2, C-8

intercept (curve-fit), 12-8,
16-1

interest (finance), 17-3
intermediate results, 2-12
inverse function, 9-3

inverse hyperbolic
functions, 4-6

inverse trigonometric
functions, 4-4, C-6

inverse-normal distribution,
16-11

ISG, 14-18

J
i, 3-9, 14-20, 14-21

(i), 14-20

K

keys

alpha, 1-3
letters, 1-3

shifted, 1-3

L

LAST X register, 2-8, B-6
LASTx function, 2-8
lender (finance), 17-1
length conversions, 4-14
letter keys, 1-3

limits of integration, 8-2,

15-8, C-8

linear regression
(estimation), 12-8, 16-1

logarithmic curve fitting,
16-1

logarithmic functions, 4-1,
9-3, C-5

logic

AND, 11-4
NAND, 11-4
NOR, 11-4
NOT, 11-4
OR, 11-4

XOR, 11-4

LAST X
LAST X
)
/
« )
AND



loop counter, 14-18, 14—
23

looping, 14-16, 14-17

tukasiewicz, 2-1

M

MEM

program catalog, 1-28,
13-22

reviews memory, 1-28
variable catalog, 1-28
mantissa, 1-25

mass conversions, 4—-14
math

complex-number, 9-1
general procedure, 1-18
intermediate results, 2—12
long calculations, 2-12
order of calculation, 2-14
real-number, 4-1

stack operation, 2-5, 9-2
maximum of function, D-8

mean menu, 12-4

means (statistics)
calculating, 12-4

normal distribution, 16-11
memory

amount available, 1-28

clearing, 1-5, 1-29, A-1,
A-4, B-1, B-3

clearing equations, 6-9

clearing programs, 1-28,
13-6, 13-22

clearing statistics registers,

12-2

clearing variables, 1-28

full, A-1

maintained while off, 1-1
programs, 13-21, B-2
size, 1-28, B-1

stack, 2-1

usage, B-1

MEMORY CLEAR, A-4, B-
3, F-3

MEMORY FULL, B-1, F-3
menu keys, 1-6

menus

example of using, 1-8
general operation, 1-6
leaving, 1-4, 1-8

list of, 1-6

messages

clearing, 1-4

displaying, 13-16, 13-18
in equations, 13-16
responding to, 1-27, F-1
summary of, F-1
minimum of function, D-8

modes. See angular mode,
base mode, Equation
mode, Fraction—display
mode, Program-entry
mode

MODES menu
angular mode, 4-4
money (finance), 17-1

multiplication, dividision,
10-2

MODES



N

negative numbers, 1-15,
9-3, 11-6

nested routines, 14-2, 15—
11

normal distribution, 16-11

numbers. See binary
numbers, hex numbers,
octal numbers, variables

bases, 10-1, 13-25

changing sign of, 1-15,
9-3

clearing, 1-4, 1-5, 1-17
complex, 9-1

display format, 1-21, 11-
6

Ein, 1-15, A-1
editing, 1-4, 1-17
exchanging, 2-4
finding parts of, 4-17
fractions in, 1-26, 5-1
in equations, 6-5

in programs, 13-7

infernal representation,
11-6

large and small, 1-15, 1-
17

negative, 1-15, 9-3, 11—
6

performing arithmetic
calculations, 1-18

periods and commas in,

1-23, A-1

precision, D-13
prime, 17-7

range of, 1-17, 11-7

real, 4-1

10 -

recalling, 3-2

reusing, 2-6, 2-10
rounding, 4-18
showing all digits, 1-25
storing, 3-2

truncating, 11-6

typing, 1-15, 1-16, 11-1

o
©FA), 1-1

OCT annunciator, 11-1,
11-4

octal numbers. See
numbers

arithmetic, 11-4
converting to, 11-2
range of, 11-7
typing, 11-1

one-variable statistics, 12—
2

overflow
flags, 14-9, F4

result of calculation, 1-17,
11-5

sefting response, 14-9, F-
4

testing occurrence, 14-9

P

n, A-2
parentheses

in arithmetic, 2-12

in equations, 6-5, 6-6, 6—
15

OCT



pause. See PSE
payment (finance), 17-1
percentage functions, 4-6

periods (in numbers), 1-
23, A-1

permutations, 4-15

Physics constants, 4-8
polar—to-rectangular
coordinate conversion, 4—
10, 9-5

poles of functions, D-6

polynomials, 13-26

population standard
deviations, 12-7

power annunciator, 1-1,

A-3
power curve fitting, 16-1

power functions, 1-17, 4-
2,9-3

precedence (equation
operators), 614

precision (numbers), 1-25,
D-13

present value. See
financial calculations

PRGM TOP, 13-4, 13-7,
13-21, F-4

prime number generator,
17-7

probability
functions, 4-15
normal distribution, 16-11

program catalog, 1-28,
13-22

program labels

branching to, 14-2, 14-4,
14-16

checksums, 13-23

clearing, 13-6
duplicate, 13-6
entering, 13-4, 13-6
executing, 13-10

indirect addressing, 14—
20, 14-21, 14-23

moving to, 13-22
purpose, 13-4
typing name, 1-3
viewing, 13-22

program lines. See
programs

program names. See
program labels

program pointer, 13-6,
13-11, 13-19, 13-21,
B-4

Program-entry mode, 1-4,

13-6

programs. See program
labels

ALG operations, 13-4
base mode, 13-25

branching, 14-2, 14-4,
14-6, 14-16

calculations in, 13-13

calling routines, 14-1,
14-2

catalog of, 1-28, 13-22

checksums, 13-22, 13-
23, B-2

clearing, 13-6, 13-22,
13-23

clearing all, 13-6, 13-23
comparison fests, 14-7
conditional tests, 14-7,

14-9, 14-12, 14-17,
15-6

data input, 13-5, 13-13,

ALG
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13-14

data output, 13-5, 13-14,
13-18

deleting, 1-28
deleting all, 1-5

deleting equations, 13-7,
13-20

deleting lines, 13-20
designing, 13-3, 14-1

editing, 1-4, 13-7, 13-
20

editing equations, 13-7,
13-20

entering, 13-6

equation evaluation, 14—
11

equation prompting, 14—
11

equations in, 13-4, 13-7
errors in, 13-19
executing, 13-10

flags, 14-9, 14-12

for integration, 15-7

for SOLVE, 15-1, D-1

fractions with, 5-8, 13—
15, 14-9

functions not allowed, 13-
24

indirect addressing, 14—
20, 14-21, 14-23

inserting lines, 13-6, 13-
20

interrupting, 13-19

lengths, 13-22, 13-23,
B-2

line numbers, 13-22

loop counter, 14-18

12 -

looping, 14-16, 14-17
memory usage, 13-22

messages in, 13-16, 13-
18

moving through, 13-11
not stopping, 13-18
numbers in, 13-7
pausing, 13-19
prompting for data, 13-12
purpose, 13-1
resuming, 13-16
return at end, 13-4
routines, 14-1

RPN operations, 13-4
running, 13-10

showing long number, 13-
7

stepping through, 13-11

stopping, 13-14, 13-16,
13-19

techniques, 14-1
testing, 13-11

SOLVE
using infegration, 15-10

using SOLVE, 15-6

variables in, 13-12, 15—
1, 15-7

/ prompts
affect stack, 6-14, 13-14

clearing, 1-4, 6-14, 13-
15

equations, 6-13

INPUT, 13-12, 13-14,
15-2, 15-8

programmed equations,
14-11, 15-1, 15-9

RPN

SOLVE



responding to, 6-13, 13-
14

showing hidden digits, 6—
14

PSE

pausing programs, 13-19,
15-10

preventing program stops,
14-11

Q

questions, A-1

quotient and remainder of
division, 4-2

R/S

ending prompts, 6-11, 6-
14,7-2,13-15

interrupting programs, 13-
19

resuming programs, 13—
16, 13-19

running programs, 13-22

stopping infegration, 8-2,
15-8

stopping SOLVE, 7-8, 15-
1

RV and R, 2-3, C-7
radians

angle unit, 4-4

angle units, A-2

converting to degrees, 4-
14

radix mark, A-1

random numbers, 4-15,
B-4

RCL, 3-2, 13-14

RCL arithmetic, 3-7
real numbers
operations, 4-1

real part (complex
numbers), 9-1

recall arithmetic, 3-7

rectangular-to—polar
coordinate conversion, 4—

10, 9-5

regression (linear), 12-7,
16-1

resetting the calculator, A-
4, B-2

return (program). See
programs

Reverse Polish Notation.
See RPN

rolling the stack, 2-3, C-7
root functions, 4-3

roots. See SOLVE
checking, 7-7, D-3

in programs, 15-6
multiple, 7-9

none found, 7-8, D-8

of equations, 7-1

of programs, 15-1

SOLVE
rounding
fractions, 5-8, 13-18
radians numbers, 4-18

round-off
fractions, 5-8
integration, 8-6
SOLVE, D-13
statistics, 12-10
trig functions, 4-4

routines

RCL

RPN

SOLVE
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calling, 14-1

nesting, 14-2, 15-11
parts of programs, 14-1
RPN

compared to equations,
13-4

in programs, 13-4
origins, 2-1

running programs, 13-10

S

SHOW

equation checksums, 6
19, B-2

equation lengths, 6-19, B-
2

number digits, 1-25, 13-7

program checksums, 13-
22, B-2

program lengths, 13-22,
B-2

prompt digits, 6-14
(SPACE], 14-14

sample standard
deviations, 12-6

SCl format. See display
format

in programs, 13-7
sefting, 1-22
scrolling

binary numbers, 11-8

equations, 6-7, 13-7,
13-16

seed (random number), 4-
15

self-test (calculator), A-5

14 -

.SCI

shift keys, 1-3

sign (of numbers), 1-15,
9-3, 11-6

sign conventions (finance),
17-1

Sign value, 4-17

sine (frig), 4-4, 9-3, A-2,
C-6

single—step execution, 13-

11

slope (curve-fit), 12-8,
16-1

SOLVE
checking results, 7-7, D-3
discontinuity, D-5

evaluating equations, 7-1,
7-7

evaluating programs, 15-

2

flat regions, D-8

how it works, 7-7, D-1
in programs, 15-6

initial guesses, 7-2, 7-7,
7-8,7-12, 15-6

minimum or maximum, D-

8
multiple roots, 7-9
no restrictions, 15-11

no root found, 7-8, 15-6,
D-8

pole, D-6
purpose, 7-1

results on stack, 7-2, 7-7,
D-3

resuming, 15-1
round-off, D-13

stopping, 7-2, 7-8



using, 7-1
stack. See stack lift

affected by prompts, 6-
14, 13-14

complex numbers, 9-2
effect of ENTER), 2-6
equation usage, 6-11

exchanging with variables,
3-8

exchanging X and Y, 2-4
filling with constant, 2-7
long calculations, 2-12
operation, 2-1, 2-5, 9-2

program calculations, 13-
14

program input, 13-12
program output, 13-12
purpose, 2-1, 2-2
registers, 2-1
reviewing, 2-3, C-7
rolling, 2-3, C-7

separate from variables,
3-2

size limit, 2-4, 9-2

unaffected by VIEW, 13-
15

stack lift. See stack
default state, B—4
disabling, B-4
enabling, B-4

not affecting, B-5
operation, 2-5
standard deviations
calculating, 12-6, 12-7

grouped data, 16-18

ENTER

VIEW

normal distribution, 16-11

standard—deviation menu,
12-6, 12-7

statistical data. See
statistics registers

clearing, 1-5, 12-2
correcting, 12-2
entering, 12-1
initializing, 12-2
one-variable, 12-2
precision, 12-10

sums of variables, 12-11
two-variable, 12-2
statistics

caleulating, 12-4

curve fitting, 12-8, 16-1
distributions, 16-11
grouped data, 16-18
one-variable data, 12-2
operations, 12-1
two-variable data, 12-2

statistics menus, 12-1,
12-4

statistics registers. See
statistical data

accessing, 12-12
clearing, 1-5, 12-2

contain summations, 12-1,
12-11, 12-12

correcting data, 12-2
initializing, 12-2

no fractions, 5-2
viewing, 12-11
STO, 3-2, 13-12

STO arithmetic, 3-6
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STOP, 13-19

storage arithmetic, 3-6
subroutines. See routines
sums of statistical
variables, 12-11

syntax (equations), 6-14,
6-19, 13-16

T

tangent (trig), 4-4, 9-3,
A-2, C-6

temperatures

converting units, 4-14
limits for calculator, A-2
test menus, 14-7

testing the calculator, A-4,
A-5

time formats, 4-13
time value of money, 17-1
T-register, 2-5

trigonometric functions, 4—
4, 9-3, C-6

troubleshooting, A-4, A-5
turning on and off, 1-1
TVM, 17-1

twos complement, 11-4,

11-6

two-variable statistics, 12—

2

1)

uncertainty (integration),
8-2, 8-6

units conversions, 4-14

16 -

v

variable catalog, 1-28, 3-
4

variables

accessing stack register
contents, B-7

arithmetic inside, 3-6
catalog of, 1-28, 3-4
clearing, 1-28
clearing all, 1-5

clearing while viewing,

13-15
exchanging with X, 3-8
in equations, 6-3, 7-1

in programs, 13-12, 15—
1, 15-7

indirect addressing, 14—
20, 14-21

names, 3-1
number storage, 3-1

of integration, 8-2, 15-7,
C-8

polynomials, 13-26
program input, 13-14

program output, 13-15,
13-18

recalling, 3-2, 3-4
separate from stack, 3-2
showing all digits, 13-15

solving for, 7-1, 15-1,
15-6, D-1

storing, 3-2

storing from equation, 6-

12
typing name, 1-3

viewing, 3-4, 13-15, 13-
18



vectors
absolute value, 10-3
addition,subtraction, 10-1

angle between two
vectors, 10-5

coordinate conversions, 4—
12, 9-5

creating vectors from
variables or registers, 10-

8

cross product, 17-11
dot product, 10-4

in equation, 10-6
in program, 10-7
VIEW

displaying program data,
13-15,13-18, 15-6

displaying variables, 3-4
no stack effect, 13-15
stopping programs, 13-15

volume conversions, 4-14

w

weight conversions, 4-14
weighted means, 12-4

windows (binary numbers),
11-8

X

XEQ

evaluating equations, 6—

10, 6-12

running programs, 13-10,
13-22

X ROOT arguments, 6-17
X-register
affected by prompts, 6-14

arithmetic with variables,

3-6
clearing, 1-5, 2-3, 2-7

clearing in programs, 13-
7

displayed, 2-3

during programs pause,
13-19

exchanging with variables,
3-8

exchanging with Y, 2-4
not clearing, 2-5

part of stack, 2-1
testing, 14-7

unaffected by VIEW, 13-
15

ROOT X

VIEW
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